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PHI 332W: Health Care Ethics

Module 2 : Argument Identification

2.1 Sentences


The elements of rational thought are the premise and the conclusion, which together form arguments. 


Premises and conclusions are declarative statements, not questions or commands or exclamations.  Let me review these grammatical concepts.


The declarative statement is a complete sentence stating a fact, wish, intent, or feeling.  It is followed by a period.  For example (from pp. 352-3 in text):

Fetuses look like babies.

Fetuses are not persons.

Killing babies is wrong.

It is only wrong to kill persons.


Questions ask if a fact is true.  The are followed by a question mark.

Does a fetus always look like a baby?

Is abortion wrong?


Commands order, request, or direct the creation of facts.  The subject is usually “you” and is usually unstated.  Commands might be followed by an exclamation point.

Do not speed!

Obey the law of the land!

Let’s figure out the answer.

Thou shalt not bear false witness against thy neighbor.


Exclamations do not state but express feelings.  Exclamations should be followed by an exclamation point.

What a surprise that was!

How lucky we were!

2.1.1 Exercise

Label the following sentences (from pp. 352-3) as declarative statements, questions, commands, or exclamations. I suggest you use blue color font for your answers (pull down the Format menu on your toolbar; click on Font; find Color; select blue—if changing the font color is too much of a hassle, try changing the font itself, to Helvetica or whatever), so that you can always easily find your work. When you have finished, turn the page and check your work. I’ll use green for mine, to make it easy for you to check yourself.

1. Consider the way a typical anti-abortionist argues.

2. She will argue or assert that life is present from the moment of conception.

3. Do anti-abortionists believe abortion is equivalent to murder?

4. In fact, both the pro-choice and the anti-abortion claims do seem to be true.

5. What a brilliant idea!

1.
Consider the way a typical anti-abortionist argues. Command
2.
She will argue or assert that life is present from the moment of conception. Declarative statement
3.
Do anti-abortionists believe abortion is equivalent to murder? Question
4.
In fact, both the pro-choice and the anti-abortion claims do seem to be true. Declarative statement
5.
What a brilliant idea! Exclamation
Let me apologize right now to you for chopping up the textbook essays in this module.  I want you to develop the skills you need to identify and evaluate arguments about ethics.  As your powers increase, I won’t need to chop up your “food” for you:  you’ll be able to eat it whole!  I supply page numbers for your information.  Usually, you will not need to check the context of a passage I use in order to do the exercise I give you.

If you are not confident of your ability to identify these types of statements, do exercise 2.1.2.  If you are confident, go on to 2.2.

2.1.2 Exercise

Label each of the following sentences (from p. 386-7 of text) as declarative statements, questions, commands, or exclamations. When you have finished, turn the page and check your work.

Suppose now that a different woman in her fifth month of pregnancy receives the results of an amniocentesis and learns that she is carrying a girl and not the son she wanted.  Or suppose she finds that the fetus is the “right sex” but is diagnosed as having Down’s syndrome, spina bifida, cystic fibrosis, or muscular dystrophy.  She had every reason to believe she was carrying a healthy child. She cannot imagine being the mother of a child with a disability. . . .

By contrast with the improvements of the past 15 years in education and employment for disabled people, prenatal diagnosis and selective abortion communicate that disability is so terrible it warrants not being alive. How terrible that is! As prenatal diagnosis becomes more widespread, as the number of conditions that can be screened for increases, women will be forced to decide whether or not they want to carry their pregnancies to term knowing that their children are predisposed to cancer, heart disease, diabetes, or depression. As a society, do we wish to send the message to all such people now living that there should be “no more of your kind” in the future? If we use the technological solution of prenatal diagnosis to eliminate such people, what will become of our attitudes and practices toward any of those odd people who were missed by the technology and happened to be born?

Suppose now that a different woman in her fifth month of pregnancy receives the results of an amniocentesis and learns that she is carrying a girl and not the son she wanted.--Command  Or suppose she finds that the fetus is the “right sex” but is diagnosed as having Down’s syndrome, spina bifida, cystic fibrosis, or muscular dystrophy.--Command She had every reason to believe she was carrying a healthy child.—Declarative statement She cannot imagine being the mother of a child with a disability.—Declarative statement
By contrast with the improvements of the past 15 years in education and employment for disabled people, prenatal diagnosis and selective abortion communicate that disability is so terrible it warrants not being alive. —Declarative statement 

How terrible that is!—Exclamation  As prenatal diagnosis becomes more widespread, as the number of conditions that can be screened for increases, women will be forced to decide whether or not they want to carry their pregnancies to term knowing that their children are predisposed to cancer, heart disease, diabetes, or depression. —Declarative statement 

As a society, do we wish to send the message to all such people now living that there should be “no more of your kind” in the future? —Question If we use the technological solution of prenatal diagnosis to eliminate such people, what will become of our attitudes and practices toward any of those odd people who were missed by the technology and happened to be born? —Question
If you are not confident of your ability to identify these types of statements, do exercise 2.1.3.  If you are confident, go on to 2.2.

2.1.3 Exercise

Label each of the following sentences (from p. 509 of text) as declarative statements, questions, commands, or exclamations. When you have finished, turn the page and check your work.

Ban the cloning of human beings! What then, should we do?  We should declare that human cloning is unethical in itself and dangerous in its likely consequences.  In so doing, we shall have the backing of the overwhelming majority of our fellow Americans, and of the human race, and (I believe) of most practicing scientists. Cloning—what a repugnant idea! 

Ban the cloning of human beings!—Command  What then, should we do? —Question We should declare that human cloning is unethical in itself and dangerous in its likely consequences.—Declarative statement In so doing, we shall have the backing of the overwhelming majority of our fellow Americans, and of the human race, and (I believe) of most practicing scientists.—Declarative statement Cloning—what a repugnant idea! —Exclamation 

More practice? Or go on to 2.2.

2.1.4 Exercise

Label each of the following sentences (from p. 176-7 of text) as declarative statements, questions, commands, or exclamations. When you have finished, turn the page and check your work.

--I need to ask you this, Miss Mary.  When have you seen your feet?

--Have you seen them recently?  Have they let you see your feet real close?

--They let me see my feet.  I can see my feet.

--When did you see them, do you remember?

--I have seen them two or three times.  Don’t look at the feet.  Let’s don’t look at the feet. . . .

--What a ghastly smell!

--If thy hand offend you, cut it off.

--I need to ask you this, Miss Mary.—Declarative statement  When have you seen your feet? —Question
--Have you seen them recently? —Question Have they let you see your feet real close? —Question
--They let me see my feet. —Declarative statement I can see my feet. —Declarative statement
--When did you see them, do you remember? —Question
--I have seen them two or three times. —Declarative statement Don’t look at the feet. —Command  Let’s don’t look at the feet. —Command
--What a ghastly smell! —Exclamation
--If thy hand offend you, cut it off. —Command
2.2  Premise indicators


The technique of argument diagramming will help you learn to identify, evaluate, and construct arguments.  When you diagram an argument, you will only be interested in declarative statements, and only in declarative statements that are either premises or conclusions.  Whenever an author states a reason, the reason is a premise, and what the reason is for is the conclusion.  Sometimes it is hard to determine when a passage contains premises and conclusions.


There are artificial languages (the study of formal logic) in which the rules of the language make it obvious when you have a premise or conclusion.  But English, and all natural languages, are not so obvious.  Fortunately, there are some pretty clear indicators you can trust: premise indicators and conclusion indicators.  A premise indicator is any synonym for “because.”

Premise indicators

because

for

since

as

firstly, . . ., secondly, . . .

(and many other possibilities)

Here are some examples:

1. Abortion is wrong because life is present from the moment of conception.

2. Since life is present from the moment of conception, abortion is wrong.

3. Abortion is wrong, for life is present from the moment of conception.

In example 1, the “because” clause is a premise, the other clause is the conclusion.  This tells us that example 1 is an argument with one premise (“life is present from the moment of conception”) and one conclusion (“abortion is wrong”).  You are ready for your first diagram!

Diagram of example 1: a ( b.

Key:  

a = Life is present from the moment of conception.

b = Abortion is wrong.

Every diagram will show how premises and conclusions fit together by using an arrow and putting the conclusion at the sharp end of the arrow and a premise at the blunt end of the arrow.  The following diagrams are also correct for example 1, using the same key.

b ( a
or
a   or even  
b




b

a

The important thing in all these is that the conclusion is at the sharp end, the premise at the blunt end of the arrow. The following diagrams (with the same key) are all INCORRECT:

b ( a

or 
a ( b

or  
a 
or 
b








b

a

These incorrect diagrams all mistake the premise for the conclusion and the conclusion for the premise. (To draw vertical arrows, go to your View menu, find Toolbars, and activate your Drawing toolbar, which will appear on your screen.  Click on the arrow—not the “draw shapes” arrow but the “arrow” arrow!--on that toolbar.  Your cursor will turn into a plus sign.  Hold down or “drag” the plus sign from where you want the blunt end of your arrow to be and move the plus sign to where you want the sharp end to be before releasing the hold down or “dropping.”)

2.2.1 Exercise

Now you try to draw the diagram for example 2.

2.
Since life is present from the moment of conception, abortion is wrong.

Hint:  in example 2, “Since” is a synonym for “because.”  So it marks a premise.  So the other clause is the conclusion.  Use the same key  as before.  Make an arrow by typing hyphen (-), hyphen (-), right angle bracket (>).  Don’t look ahead to my answer until you’ve tried to make your own answer.

Diagram of example 2: a ( b.

Key:  

a = Life is present from the moment of conception.

b = Abortion is wrong.
Notice that the diagram for example 2 is exactly the same as the diagram for example 1.  (The same variations of this diagram are correct and incorrect as in my discussion of example 1 above.)  This should make sense to you:  example 1 and example 2 are just two ways in English of saying the very same argument.  So we should expect the same diagram.

2.2.2 Exercise

Now try to diagram example 3.  (Hint:  “for” is a synonym for “because” in example 3).  After typing your answer here, check your answer with mine on the next page.

Diagram of example 3: a ( b.

Key:  

a = Life is present from the moment of conception.

b = Abortion is wrong.
Notice that this, too, is the same argument as in examples 1 and 2, although in different words. (The same diagram variations are correct, like b ( a, and incorrect, like b ( a, as above.)

The words “for” and “since” are only synonyms for “because” when they serve as conjunctions (that is, when they connect two complete sentences or “independent clauses”—see examples 2 and 3 above), not as prepositions (that is, when they stand at the beginning of a prepositional phrase.  Here are examples of “for” and “since” used as prepositions:

4.
Fetuses possess the genetic code for human beings.

5. 
Abortion has been legal since the Supreme court decision in Roe v. Wade.

Neither example 4 nor 5 is an argument, and neither can be diagrammed using an arrow.  

2.2.3 Exercise

Make a key and diagram each of  the following.  If it is not an argument, label it “not an argument.” Then turn the page and check your work.

1. Since fetuses possess the genetic code of human beings, abortion is wrong.

2. Abortion is wrong, for fetuses possess the genetic code of human beings.

3. Fetuses look like babies for months.

4. Since the middle ages, abortion has been problematic.

1.
Since fetuses possess the genetic code of human beings, abortion is wrong.

a ( b 

Key: 

a = Fetuses possess the genetic code of human beings.

b = Abortion is wrong.

You might have different letters or have your arrow in a different direction, but you should convey this idea:




If you prefer, you can avoid using a key in your answer and just connect sentences with arrows. Use the ‘text box’ option on your draw menu to make it look like mine.

2.
Abortion is wrong, for fetuses possess the genetic code of human beings.

a ( b 

Key:

a = Fetuses possess the genetic code of human beings.

b = Abortion is wrong.

Alternative answer:




3.
Fetuses look like babies for months.

Not an argument.

4.
Since the middle ages, abortion has been problematic.

Not an argument.

Go on to 2.3, or do some more exercises.

2.2.4 Exercise

Diagram  the following with letters and a key or with arrows connecting declarative statements.  If it is not an argument, label it “not an argument.” Then turn the page and check your work.

1.
Because there are so many cancers, the lethality of which varies dramatically, telling a patient that cancer might recur and would then be incurable, without providing at least some general information concerning the virulence of the particular cancer at issue as reflected in mortality tables, was “meaningless.” (p. 80)

2.
Since continued medical interventions cannot realistically be thought to benefit patients in persistent vegetative states in any way, they may be ethically forgone. (p. 219)

3.
Because human life is the foundation for all other human goods, it has a special value and significance. (p. 225)

4.
Withholding medically assisted nutrition could not be a matter of killing because it involves an omission rather than a positive action. (p. 226)

5.
For rational people, not wearing a helmet is not an essential feature in the enjoyment of riding a motorcycle. (p. 61)

1.
Because there are so many cancers, the lethality of which varies dramatically, telling a patient that cancer might recur and would then be incurable, without providing at least some general information concerning the virulence of the particular cancer at issue as reflected in mortality tables, was “meaningless.” (p. 80)



2.
Since continued medical interventions cannot realistically be thought to benefit patients in persistent vegetative states in any way, they may be ethically forgone.



3.
Because human life is the foundation for all other human goods, it has a special value and significance.



4.
Withholding medically assisted nutrition could not be a matter of killing because it involves an omission rather than a positive action.

5. 
For rational people, not wearing a helmet is not an essential feature in the enjoyment of riding a motorcycle. Not an argument.

2.3 Conclusion indicators

You have one other important indicator to help you find and diagram arguments:  the conclusion indicator.  The conclusion indicator is any synonym for “therefore.”

Conclusion indicators
therefore

thus

so

hence

ergo

it follows that

this means that

this shows that

this entails that

this proves that

(and many others)

Usually, a conclusion indicator stands near the beginning of a sentence that is a conclusion. And usually the sentence or sentences before the conclusion indicator are premises.  Consider these examples:

1.
Fetuses are not persons. Abortion is, therefore, not wrongful killing.


2.
Fetuses are not rational agents.  Hence abortion is permissible.

3.
Fetuses are not social beings.  This shows that abortion is not wrong.

Here is my diagram and key for example 1.

Diagram of 1:  a ( b

Key: 

a = Fetuses are not persons.

b = Abortion is not wrongful killing.

2.3.1 Exercise

Diagram examples 2 and 3 above, then check your work with my answers on the next page. To help yourself, begin by drawing an arrow under the inference indicator, as I did with example 1.

2.
Fetuses are not rational agents.  Hence abortion is permissible.


Diagram of 2:  a ( b

Key: 

a = Fetuses are not rational agents.

b = Abortion is permissible

3.
Fetuses are not social beings.  This shows that abortion is not wrong.


Diagram of 3:  a ( b

Key: 

a = Fetuses are not social beings.

b = Abortion is not wrong.

2.4 Independent and linked premises

Notice, as we go along, that the process of pinning down an argument, like a specimen to examine, helps detach us from our emotions.  In health care settings, it is often difficult to talk about some issues because some parties to the conversation cannot help but get angry or hurt or emotionally involved in ways that keep the conversation from being rational.  (I’m not saying we should ignore our emotional responses in ethics:  that is a much more complex question, and I think the answer must be sometimes yes, sometimes no.  For example, Kass, in “The Wisdom of Repugnance,” (pp. 496-510), argues, perhaps wisely--perhaps not!--that we should use our emotional response to judge the case of human cloning.  But notice that his appeal to emotion does not keep him from presenting a clear argument.)  Just as nurses are trained to be “clinical” in horrifying situations, so that they can function and do some good, so too argument analyzers are clinical in examining arguments.  You are ready to try this clinical approach in a conversation now:  When people are getting heated about an ethical or other issues, you can cool things down by helping the other person to state his premises as clearly  as possible.  Ask questions like, “I’m pretty sure that the point you want to prove is lah-de-dah, but I’m not sure what the reason is that you’re giving.  Is it blah-blah?”  You ask this not to trick or fluster the other person, but to help them state their reasoning the very best they can.  

Let me show you now a more complex diagram, to use when you have independent premises for the same conclusion.  Examples 1, 2, and 3 each stand alone as a pro-choice argument.  

1.
Fetuses are not persons. Abortion is, therefore, not wrongful killing.

2.
Fetuses are not rational agents.  Hence abortion is permissible.

3.
Fetuses are not social beings.  This shows that abortion is not wrong.

But you will often find independent premises combined into one argument.  For example:

4.
Fetuses are not persons; they are not rational agents, nor are they social beings.  For all of these reasons, abortion is permissible.

Here is a diagram:
a
b
c






d

Key:

a = Fetuses are not persons.

b = Fetuses are not rational agents.

c = Fetuses are not social beings

d = Abortion is permissible.

In contrast to independent premises, linked premises work together to reach a conclusion.  Consider the following argument (which I write in three different ways for you to observe):

5. 
Being a person is what gives an individual a right to life. Therefore fetuses have no right to life, since they are not persons.

6.
Fetuses are not persons.  But being a person is what gives an individual a right to life.  So fetuses have no right to life.

7.
Fetuses have no right to life, because being a person is what gives an individual a right to life, and fetuses are not persons.

2.4.1 Exercise

In examples 5, 6, and 7, underline the clauses that begin with premise indicator(s).  Whatever you underline this way must be a premise.  Draw a right-pointing arrow under the conclusion indicator(s).  Whatever the arrow points to is a conclusion.  This will help you interpret the arguments.  Do all three seem to say the same to you?  Which version do you find clearest?  Which do you find most misleading?  When you have marked the examples, turn the page to check your work.

Here are the marks you should have put under the inference (premise or conclusion) indicators:

5. 
Being a person is what gives an individual a right to life. Therefore fetuses have no right to life, since they are not persons.

6.
Fetuses are not persons.  But being a person is what gives an individual a right to life.  So fetuses have no right to life.


7.
Fetuses have no right to life, because being a person is what gives an individual a right to life, and fetuses are not persons.

My personal opinion is that example 6 is the clearest way to state the argument.
Study this diagram for examples 5, 6, and 7.  I indicate that premises a and b are linked by using a plus (+) sign.

a + b

or

a





+ 
c

c



b

Key:

a = Being a person is what gives an individual a right to life.

b = Fetuses are not persons.

c = Fetuses have no right to life.

Here’s a way to tell if premises are linked or independent.  Suppose you have two premises and you are not sure if they are linked.  Ask this question about each one of the premises: “Why is that supposed to be a reason for the conclusion?”  If another premise answers this question, the premises are linked.  If the other premise is irrelevant to the question, the premises are independent. Notice that lots of independent premises make a cumulative case for the conclusion and may in that way strengthen each other’s  inference—but we shall nonetheless classify them as independent.

In many arguments we analyze, whether the premises are independent or linked cannot be determined or isn’t worth quibbling over:  in these cases either answer will earn full credit.  In many other arguments, the distinction can be determined, and you may lose a point if you mistake it.  I’ll try to indicate these two situations in exercises.

2.4.2 Exercise

If any of the following are arguments, diagram them.  Begin by marking inference (premise or conclusion) indicators as before. Then check your work with my answers on the next page.

1.
Now, how might one deal with this standoff?  The standard approach is to try to show how the moral principles of one’s opponent lose their plausibility under analysis.  It is easy to see how this is possible (p. 352).

2.
There are three reasons why abortion is wrong:  Life is present from the moment of conception; fetuses look like babies; and fetuses possess a genetic code that is both necessary and sufficient for being human (p. 352).

3.
It is always wrong to take human life.  So, since life is present from the moment of conception, abortion is always wrong (p. 353).

4.
It is a moral perspective very different from the abstract, competitive, isolated, and principled rigidity so characteristic of patriarchy (p. 368).

5.
As embryology and fetology advance, it becomes clear that human development is a continuum (p. 368).

1.
Now, how might one deal with this standoff?  The standard approach is to try to show how the moral principles of one’s opponent lose their plausibility under analysis.  It is easy to see how this is possible. Not an argument

2.
There are three reasons why abortion is wrong:  Life is present from the moment of conception; fetuses look like babies; and fetuses possess a genetic code that is both necessary and sufficient for being human. 

a

b

c



d

Key:

a = Life is present from the moment of conception.

b = Fetuses look like babies.

c = Fetuses possess a genetic code that is both necessary and sufficient for being human.

d = Abortion is wrong.

3.
It is always wrong to take human life.  So, since life is present from the moment of conception, abortion is always wrong.

a + b

c

Key:

a = It is always wrong to take human life.

b = Life is present from the moment of conception.

c = Abortion is always wrong.

4.
It is a moral perspective very different from the abstract, competitive, isolated, and principled rigidity so characteristic of patriarchy (p. 368). Not an argument.
5.
As embryology and fetology advance, it becomes clear that human development is a continuum (p. 368). Not an argument.


2.4.3 Exercise

If any of the following are arguments, diagram them.  Begin by marking inference (premise or conclusion) indicators as before. Then check your work with my answers on the next page.

1.
The contexts and clinical settings in which physician and patient interact and exchange information material to therapeutic decisions are so multifarious, the informational needs and degree of dependency of individual patients so various, and the professional relationship itself such an intimate and irreducibly judgment-laden one, that it is unwise to require as a matter of law that a particular species of information be disclosed (pp. 80-1).

[Hint: “so . . . that” and “such . . . that” are inference indicators.]

2.
She is functioning on a psychotic level with respect to ideas concerning her gangrenous feet. . . . Her judgment concerning recovery is markedly impaired. . . . She does not appreciate the dangers to her life.  I conclude that she is incompetent to decide this issue (pp. 170-1).

3.
For some incompetent patients it might be impossible to be clearly satisfied as to the patient’s intent either to accept or reject the life-sustaining treatment. . . . In such cases, a surrogate decision-maker cannot presume that treatment decisions made by a third party on the patient’s behalf will further the patient’s right to self-determination. . . . Thus, in the absence of adequate proof of the patient’s wishes, it is naïve to pretend that the right to self-determination serves as the basis for substituted decision-making (p. 210).

1.
The contexts and clinical settings in which physician and patient interact and exchange information material to therapeutic decisions are so multifarious, the informational needs and degree of dependency of individual patients so various, and the professional relationship itself such an intimate and irreducibly judgment-laden one, that it is unwise to require as a matter of law that a particular species of information be disclosed (pp. 80-1).

[Hint: “so . . . that” and “such . . . that” are inference indicators.]








2.
She is functioning on a psychotic level with respect to ideas concerning her gangrenous feet. . . . Her judgment concerning recovery is markedly impaired. . . . She does not appreciate the dangers to her life.  I conclude that she is incompetent to decide this issue (pp. 170-1).




3.
For some incompetent patients it might be impossible to be clearly satisfied as to the patient’s intent either to accept or reject the life-sustaining treatment. . . . In such cases, a surrogate decision-maker cannot presume that treatment decisions made by a third party on the patient’s behalf will further the patient’s right to self-determination. . . .  Thus, in the absence of adequate proof of the patient’s wishes, it is naïve to pretend that 


the right to self-determination serves as the basis for substituted decision-making.

 (p. 210).








+



2.4.4 Exercise

If any of the following are arguments, diagram them.  Begin by marking inference (premise or conclusion) indicators as before. Then check your work with my answers on the next page.

1.
Like other chronic diseases—such as type I diabetes mellitus, which requires the patient to administer insulin over a lifetime—alcoholism requires the patient to assume responsibility for participating in continuous treatment. . . . The high success rates of some alcoholism treatment programs indicate that many patients can accept responsibility for their treatment. ARESLD (alcohol-related end-stage liver disease), one of the sequelae of alcoholism, results from 10 to 20 years of heavy alcohol consumption. The risk of ARESLD increases with the amount of alcohol consumed and with the duration of heavy consumption. . . . Therefore alcoholics should be held responsible for seeking and obtaining treatment that could prevent the development of late-stage complications such as ARESLD (p. 671).

2. 
We do not seek to determine whether a particular transplant candidate is an abusive parent or a dutiful daughter; whether candidates cheat on their income taxes or their spouses; or whether potential recipients pay their parking tickets or routinely lie when they think it is in their best interests.  We refrain from considering such judgments for several good reasons: (1) We cannot pass judgment fairly. (2) We cannot know what penalties different degrees of misconduct deserve. (3) Judgments of this kind could not be made consistently in our medical system—and a fundamental requirement of a fair system in allocating scarce resources is that it treat all in need of certain goods on the same standard, without unfair discrimination by group (p. 676).

1.
Like other chronic diseases—such as type I diabetes mellitus, which requires the patient to administer insulin over a lifetime—alcoholism requires the patient to assume responsibility for participating in continuous treatment. . . . The high success rates of some alcoholism treatment programs indicate that many patients can accept responsibility for their treatment. ARESLD (alcohol-related end-stage liver disease), one of the sequelae of alcoholism, results from 10 to 20 years of heavy alcohol consumption. The risk of ARESLD increases with the amount of alcohol consumed and with the duration of heavy consumption. . . . Therefore alcoholics should be held responsible for seeking and obtaining treatment that could prevent the development of late-stage complications such as ARESLD (p. 671).







+







+







+



2. 
We do not seek to determine whether a particular transplant candidate is an abusive parent or a dutiful daughter; whether candidates cheat on their income taxes or their spouses; or whether potential recipients pay their parking tickets or routinely lie when they think it is in their best interests.  We refrain from considering such judgments for several good reasons: (1) We cannot pass judgment fairly. (2) We cannot know what penalties different degrees of misconduct deserve. (3) Judgments of this kind could not be made consistently in our medical system—and a fundamental requirement of a fair system in allocating scarce resources is that it treat all in need of certain goods on the same standard, without unfair discrimination by group.
2.5 Premise conclusions

Take a moment to reflect on what you are learning and the goals you have for this course.  

Some of you, I know, will feel that this sort of nitpicking is too much trouble! I agree that it can be a lot of bother.  I have only admiration for people who, without needing to trouble to understand their own or others’ reasoning, nevertheless can become conscious of having strong opinions about what’s right and wrong—that is, about ethics.

Others of you will find you actually enjoy developing your powers of argument analysis.  You will feel you are developing a power to detect “horse feathers,” “poppycock,” “piffle,” or what we vulgarly call bull [manure]!  You are right, and I agree with you that this is a valuable power for any human being to have, especially one who is training to lead conversations in health care issues.  It gets even better than this, for soon enough we will start, not only to identify arguments, but also to evaluate them.  I’m guessing that you have already been unable to resist evaluating some of the arguments we are identifying as better or worse.  But for now let’s just identify the arguments in diagrams.  Now back to work!

It is not unusual for conclusions themselves to be premises, leading to other conclusions. Consider this example (from p. 64, the numbers are in the text):

1.
Disclosure of information to the patient will sometimes increase the likelihood of depression and physical deterioration, or result in choice of medically inoptimal treatment.

2.
Disclosure of information is therefore sometimes likely to be detrimental to the patient’s health, perhaps even to hasten his death.

3.
Health and prolonged life can be assumed to have priority among preferences for patients who place themselves under physicians’ care.

4.
Worsening health or hastening death can therefore be assumed to be contrary to patients’ own true value orderings.

5.
Paternalism is therefore justified:  doctors may sometimes override patients’ prima facie rights to information about risks and treatments or about their own conditions in order to prevent harm to their health.

2.5.1 Exercise

Mark all inference (premise and conclusion) indicators.  Then check your work next page.

1.
Disclosure of information to the patient will sometimes increase the likelihood of depression and physical deterioration, or result in choice of medically inoptimal treatment.

2.
Disclosure of information is therefore sometimes likely to be detrimental to the patient’s health, perhaps even to hasten his death.

3.
Health and prolonged life can be assumed to have priority among preferences for patients who place themselves under physicians’ care.

4.
Worsening health or hastening death can therefore be assumed to be contrary to patients’ own true value orderings.

5.
Paternalism is therefore justified:  doctors may sometimes override patients’ prima facie rights to information about risks and treatments or about their own conditions in order to prevent harm to their health.

Take stock of your abilities now.  This task should have been easy for you.  If you missed any of these three inference indicators, study module parts 2.2 and 2.3 and do more exercises there.  If you were tempted to mark “assumed to” as a premise indicator, don’t worry about it.  If you were tempted to mark anything else in this passage as inference indicator (premise or conclusion), re-do parts 2.2 and 2.3 before you proceed.

2.5.2 Exercise

Now try to diagram the argument of example A, using the marked text you have made and checked with mine, above. In your diagram, some conclusions will be premises for a further conclusion. Strategy tip: whenever you are faced with a complex argument like this, break it into smaller parts and do those first.  Then try to fit the parts together based on your common sense understanding of the whole passage.  When you complete your diagram, go to the next page.

Diagram, partly completed.

This much of the diagram should have been easy for you.  If it isn’t easy for you to see that box 1 is premise to box 2 and box 3 premise to box 4, you need to spend more time on module parts 2.2 and 2.3.  If it is easy for you to see this much, at least, then reflect on how much you’ve learned already in this course.  Before you took anatomy, you saw bodies in a superficial way, ignorant of their anatomical structure.  Before you learned this much logic, you saw written arguments in a superficial way, ignorant of their logical structure.  Well done!











?


2.5.3 Exercise

We know from the conclusion indicator in sentence 5 that box 5 must be a conclusion.  So we need to figure out if boxes 2 and 4 are linked or independent premises for box 5.  If you need help figuring this out, re-do module part 2.4. Finish this diagram, then check your work next page.

Diagram, completed.

Boxes 2 and 4 have to be linked.  If you weren’t sure if they are linked, ask this question about box 4: “Why is box 4 supposed to be a reason for the conclusion?”  Box 2 answers this question; thus the premises are linked.

Once you have linked boxes 2 and 4 with a plus sign, it doesn’t matter whether you draw the arrow to box 5 from box 4, as I did below, or from box 2.  Both mean the same; both are correct.











+



2.5.4 Exercise

Diagram the following argument (from p. 170-1).  Then turn the page.

She is functioning on a psychotic level with respect to ideas concerning her gangrenous feet, as the following facts show:

· She tends to believe that her feet are black because of soot or dirt.

· She does not believe her physicians about the serious infection.

· There is an adamant belief that her feet will heal without surgery.

She refuses even to consider the possibility that amputation is necessary to save her life.

Her judgment concerning recovery is markedly impaired. . . . She does not appreciate the dangers to her life.  I conclude that she is incompetent to decide this issue.

If you get stuck, see 2.4.3 exercise 2.

 Marked passage and diagram. 

She is functioning on a psychotic level with respect to ideas concerning her gangrenous feet, as the following facts show:

· She tends to believe that her feet are black because of soot or dirt.

· She does not believe her physicians about the serious infection.

· There is an adamant belief that her feet will heal without surgery.

· She refuses even to consider the possibility that amputation is necessary to save her life.
Her judgment concerning recovery is markedly impaired. . . . She does not appreciate the dangers to her life.  I conclude that she is incompetent to decide this issue.



2.5.5 Exercise

Diagram the following passage.  If you get stuck, see 2.4.3 exercise 3.

For some incompetent patients it might be impossible to be clearly satisfied as to the patient’s intent either to accept or reject the life-sustaining treatment, because many people may have spoken of their desires in general or casual terms, or indeed, never considered or resolved the issue at all.  In such cases, a surrogate decision-maker cannot presume that treatment decisions made by a third party on the patient’s behalf will further the patient’s right to self-determination, since effectuating another person’s right to self-determination presupposes that the substitute decision-maker knows what the person would have wanted. Thus, in the absence of adequate proof of the patient’s wishes, it is naïve to pretend that the right to self-determination serves as the basis for substituted decision-making (p. 210).

Marked text and diagram.

For some incompetent patients it might be impossible to be clearly satisfied as to the patient’s intent either to accept or reject the life-sustaining treatment, because many people may have spoken of their desires in general or casual terms, or indeed, never considered or resolved the issue at all.  In such cases, a surrogate decision-maker cannot presume that treatment decisions made by a third party on the patient’s behalf will further the patient’s right to self-determination, since effectuating another person’s right to self-determination presupposes that the substitute decision-maker knows what the person would have wanted. Thus, in the absence of adequate proof of the patient’s wishes, it is naïve to pretend that the right to self-determination serves as the basis for substituted decision-making.







2.5.6 Exercise

Diagram the following passage.  If you get stuck, see 2.4.4 exercise 2.

We do not seek to determine whether a particular transplant candidate is an abusive parent or a dutiful daughter; whether candidates cheat on their income taxes or their spouses; or whether potential recipients pay their parking tickets or routinely lie when they think it is in their best interests.  We refrain from considering such judgments for several good reasons: (1) We have genuine and well-grounded doubts about comparative degrees of voluntariness and, therefore, cannot pass judgment fairly. (2) We cannot know what penalties different degrees of misconduct deserve. (3) Judgments of this kind could not be made consistently in our medical system—and a fundamental requirement of a fair system in allocating scarce resources is that it treat all in need of certain goods on the same standard, without unfair discrimination by group (p. 676).

Marked text and diagram. 

We do not seek to determine whether a particular transplant candidate is an abusive parent or a dutiful daughter; whether candidates cheat on their income taxes or their spouses; or whether potential recipients pay their parking tickets or routinely lie when they think it is in their best interests. We refrain from considering such judgments for several good reasons: (1) We have genuine and well-grounded doubts about comparative degrees of voluntariness and, therefore, cannot pass judgment fairly. (2) We cannot know what penalties different degrees of misconduct deserve. (3) Judgments of this kind could not be made consistently in our medical system—and a fundamental requirement of a fair system in allocating scarce resources is that it treat all in need of certain goods on the same standard, without unfair discrimination by group (p. 676).







2.6 Logic puzzle  

On way to increase your ability to see logical structures and to increase your sensitivity to inference indicators like “therefore” and “because” is to practice solving logic puzzles and especially to practice explaining your solution.  That is the reason why I put a logic puzzle in this module in an ethics course. The goal is to make you sensitive to how language is used to express reasons and conclusions.  Remember: you will be using language to express your own reasons and conclusions in your research paper.  In that paper you will be solving some ethical puzzle.  So this puzzle, even if it makes your head ache, is great preparation for all of your graded assignments in this course. 

Many of you wonder, what criteria will I use in grading your research paper in this course?  One important criterion I use will be how well your paper is argued—and I will be looking at your solution to an ethical puzzle as if it were like a logic puzzle you are solving.

Solve the following puzzle by filling out the grid. Then explain your reasoning step by step, using complete sentences.  Notice how you use premise and conclusion indicators to make your reasoning clear. Then draw a diagram of your reasoning. Only after you have a solution, explanation, and diagram should you turn the page to check your work!

2.6.1 Exercise

On a certain surgical team the positions of surgeon, nurse, and tech are held by Allen, Brown, and Carr, not necessarily in that order. The nurse, who was an only child, earns the least. Carr, who married Brown’s sister, earns more than the surgeon.  What position does each person hold?  

For puzzles like this, draw a grid and put ‘N’ or ‘Y’ in each box as you figure them out.  In this puzzle, your grid should look like this:

	
	Allen
	Brown
	Carr

	Nurse
	
	
	

	Tech
	
	
	

	Surgeon
	
	
	N


I’ve started to fill in the grid for you. Here’s my reasoning:  Since Carr earns more than the surgeon, Carr is not the surgeon.

Solution: On a certain surgical team the positions of surgeon, nurse, and tech are held by Allen, Brown, and Carr, not necessarily in that order. The nurse, who was an only child, earns the least. Carr, who married Brown’s sister, earns more than the surgeon.  What position does each person hold?  

GRID

	
	Allen
	Brown
	Carr

	Nurse
	Y
	N
	N

	Tech
	N
	N
	Y

	Surgeon
	N
	Y
	N


EXPLANATION, MARKED


Allen is nurse; Brown surgeon; and Carr tech, for the following reasons.



Since Carr earns more than the surgeon, he can be neither the surgeon nor the nurse.  So he must be the tech.


Since Carr is the tech, neither Allen nor Brown are the tech. We also know Brown has a sister, so Brown cannot be the nurse. Since Brown is neither the nurse nor the tech, Brown must be the surgeon.


Allen is neither the tech nor the surgeon, hence must be the nurse.
You might have a different explanation.  For extra practice, try diagramming mine, then check your work on the next page.

DIAGRAM OF MY EXPLANATION



2.7 Restatements

If you hate logic, the good news is that you can relax now. You have learned all the logic you need in order to succeed in this course.  Very few arguments in health care ethics are as complex as the logic puzzle you did in 2.6.  Most will be simpler.

The bad news is that you will probably come to hate the ambiguity and vagueness of English even more than you hate logic!  What you need now is to develop your skill at distinguishing an argument from the rest of the stuff you always find around it.  If you looked at the textbook to check how I took passages from it to give you exercises, you will have noticed that often I edited the text before I gave it to you.  It made it easier for you to see what the argument was.  Now you need to learn to do this weeding, this editing, yourself. It can be frustrating, because many authors, even good writers, leave their arguments poorly stated.

Within a passage that contains an argument, you often find the same premise or the same conclusion repeated, restated in other words.  Authors often use restatement to sum up an argument.  Authors also restate if they want to emphasize or clarify a statement.  If you recognize the restatements, it makes your job of identifying the argument a lot easier. Consider this well-written example of restatement from p. 367.

From one perspective, the fetus is, as Petchesky says, a “biological parasite” taking resources from the woman’s body.  During pregnancy, a woman’s whole life and energies will be actively involved in the nine-month process. Gestation and childbirth involve physical and psychological risks.  After childbirth a woman will either be a mother who must undertake a twenty-year responsibility for childrearing, or face giving up her child for adoption or institutionalization.  Since hers is the body, hers the risk, hers the burden, it is only just that she alone should be free to decide on pregnancy or abortion.

2.7.1 Exercise

Mark the inference indicators in this paragraph. Then turn the page.

Marked passage, p. 367:

From one perspective, the fetus is, as Petchesky says, a “biological parasite” taking resources from the woman’s body.  During pregnancy, a woman’s whole life and energies will be actively involved in the nine-month process. Gestation and childbirth involve physical and psychological risks.  After childbirth a woman will either be a mother who must undertake a twenty-year responsibility for childrearing, or face giving up her child for adoption or institutionalization.  Since hers is the body, hers the risk, hers the burden, it is only just that she alone should be free to decide on pregnancy or abortion.

The only inference indicator, “since,” is in the last sentence.  This tells me the conclusion: “it is only just that a woman alone should be free to decide on pregnancy or abortion.”  Does that mean we should ignore the rest of the paragraph? My common sense tells me that the first four sentences support the conclusion.  (I hope your common sense tells you the same!)  But the word “since” tells us what the author thinks is the premise:  “hers is the body, hers the risk, hers the burden.”

Everything falls into place if you see that the words “hers is the body, hers the risk, hers the burden” restate the earlier sentences in the paragraph, giving us a neat diagram:





2.7.2 Exercise

Mark inference indicators in the following paragraph from p. 367. Then turn page.

The value of fetal life is contingent upon the woman’s free consent and subjective acceptance.  The fetus must be invested with maternal valuing in order to become human.  This process of “humanization” through personal consciousness and “sociality” can only be bestowed by the woman in whose body and psychosocial system a new life must mature.  The meaning and value of fetal life are constructed by the woman; without this personal conferral there only exists a biological, physiological process.  Thus fetal interests or fetal rights can never outweigh the woman’s prior interest and rights.  If a woman does not consent to invest her pregnancy with meaning or value, then the merely biological process can be freely terminated.  Prior to her own free choice and conscious investment, a woman cannot be described as “mother’ nor can “child” be said to exist.

The value of fetal life is contingent upon the woman’s free consent and subjective acceptance.  The fetus must be invested with maternal valuing in order to become human.  This process of “humanization” through personal consciousness and “sociality” can only be bestowed by the woman in whose body and psychosocial system a new life must mature.  The meaning and value of fetal life are constructed by the woman; without this personal conferral there only exists a biological, physiological process.  Thus fetal 


interests or fetal rights can never outweigh the woman’s prior interest and rights.  If a woman does not consent to invest her pregnancy with meaning or value, then the merely biological process can be freely terminated.  Prior to her own free choice and conscious investment, a woman cannot be described as “mother’ nor can “child” be said to exist.

Let us begin our diagram just with what the inference indicator tells us.




How should we treat the first three sentences?  One way would be to make each of them premises for the conclusion in box 2.  If you did this, you’d have four independent premises.  That is possible, but messy.  Your diagram will be neater and more accurate if you notice that the first three sentences are each restatements of box 1 rather than additional premises.  So you should connect them all together in box 1 using the “in other words” technique, as follows:




2.7.3 Exercise

Consider now the last two sentences of this paragraph:

If a woman does not consent to invest her pregnancy with meaning or value, then the merely biological process can be freely terminated.  Prior to her own free choice and conscious investment, a woman cannot be described as “mother’ nor can “child” be said to exist.

One of these sentences is yet another restatement of the premise in box 1; the other we can interpret to be a restatement of the conclusion in box 2.  Decide which is which; add them to the appropriate boxes below; then turn the page to check your work.




Completed diagram of paragraph from p. 367.




Let me emphasize that my diagram here is a matter of judgment and gives one among other correct possibilities.  My goal in this section is to get you to see that restatement will often let you make simpler diagrams than diagrams which invent and add many more inference indicators than the text contains. Restatement allows you to use the statements that seem relevant, which is better than just ignoring them in the diagram.  Do the following practice exercises until you feel comfortable with this skill.  Remember that there is not exact right or wrong answer, so don’t get discouraged if your answer differs from mine in some ways.  Defend your answer to yourself.  The more you practice and think about argument identification, the better you get!

It is usually a sign of poor writing to have so much restatement within a paragraph.  But must well-written essays will repeat their main thesis two or three times in the course of the essay.  Remember how essays are structured:  there is an introduction, which tells the reader what the main thesis is and how it will be defended.  There is the body, which actually gives the defense of the main thesis.  And there is the conclusion, which summarizes the argument for the main thesis.  If an author follows this structure, the main thesis will be repeated three times.  If your diagram ignores this sort of restatement, you will have a much less clear picture of the argument.  We are working within paragraphs right now.  Later we will return to restatement when we practice identifying the argument of an essay as a whole.

2.7.4 Exercise

Diagram the following paragraph.  Keep you diagram simple by finding a restatement.

In cases of voluntary pregnancy, a woman can withdraw consent if fetal genetic defects or some other problem emerges at any time before birth.  Late abortion should thus be granted without legal restrictions.  Even the minimal qualifications and limitations on women embedded in Roe v. Wade are unacceptable (pp. 367-8).

Marked paragraph and diagram.

In cases of voluntary pregnancy, a woman can withdraw consent if fetal genetic defects or some other problem emerges at any time before birth.  Late abortion should thus be granted without legal restrictions.  Even the minimal qualifications 


and limitations on women embedded in Roe v. Wade are unacceptable (pp. 367-8).




Here is an acceptable, but messier, diagram of the same paragraph:




If your diagram for a paragraph of text is getting messy, ask yourself:  Can I simplify this by finding some restatement?  

2.8 Discount words

You know how to diagram logical structure; you are working on the skill of finding what is and is not an argument in a passage.  One helpful technique is to notice discount words.  

A discount word connects two statements.  The author admits both statements are true, but wants us to weigh one statement against the other and tells us which one must be discounted or disregarded, even though it is true.  You will indicate which statement is discounted by drawing a line through it (under Format on your toolbar, click on Font, then find the “Strikethrough” option).  You strike through the discount word and the statement that is discounted. Or you could use your drawing toolbar and draw a line through it.  Here is the important point about discounted statements:  they will never be a premise or conclusion.  That’s why we draw a line through them!

2.8.1 Exercise

Use your common sense to try to guess which of the following statements is discounted by the author.  Strike through that statement, then turn the page.

Pro-life feminists grant the good intentions of their pro-choice counterparts but protest that the pro-choice position is flawed, morally inadequate, and inconsistent with feminism’s basic demands for justice (p. 368).

Pro-life feminists grant the good intentions of their pro-choice counterparts but [pro-life feminists] protest that the pro-choice position is flawed, morally inadequate, and inconsistent with feminism’s basic demands for justice.

There is something tricky about discount words.  Some of them, like “but,” discount the statement that comes before them, some of them, like “although,” discount the statement that comes after them.  Notice how the following two sentences say exactly the same thing, one with the word “but,” the other with the word “although.”

Pro-life feminists grant the good intentions of their pro-choice counterparts but protest that the pro-choice position is flawed, morally inadequate, and inconsistent with feminism’s basic demands for justice.

Although pro-life feminists grant the good intentions of their pro-choice counterparts, they protest that the pro-choice position is flawed, morally inadequate, and inconsistent with feminism’s basic demands for justice.

Here is how you would mark them:

Pro-life feminists grant the good intentions of their pro-choice counterparts but protest that the pro-choice position is flawed, morally inadequate, and inconsistent with feminism’s basic demands for justice.

Although pro-life feminists grant the good intentions of their pro-choice counterparts, they protest that the pro-choice position is flawed, morally inadequate, and inconsistent with feminism’s basic demands for justice.

The following discount words work like “but”: you will strike through what precedes them.

. . . .  , nevertheless

. . . .  , nonetheless

. . . .  , even so

. . . .  , however

. . . .  , yet

. . . .  , still.

The following discount words work like “although”: you will strike through what follows them.

*

despite the fact that. . . .,
in spite of the fact that. . . .,
even though. . . .,
Notice the difference between “even so” and “even though” in the following sentences.

Pro-life feminists grant the good intentions of their pro-choice counterparts.  Even so, they protest that the pro-choice position is flawed, morally inadequate, and inconsistent with feminism’s basic demands for justice.

Even though pro-life feminists grant the good intentions of their pro-choice counterparts, they protest that the pro-choice position is flawed, morally inadequate, and inconsistent with feminism’s basic demands for justice.

Pro-life feminists protest that the pro-choice position is flawed, morally inadequate, and inconsistent with feminism’s basic demands for justice, even though they grant the good intentions of their pro-choice counterparts.

2.8.2 Exercise

Strike through the discounted parts of these sentences, then check your work on the next page.

Pro-life feminists grant the good intentions of their pro-choice counterparts.  Even so, they protest that the pro-choice position is flawed, morally inadequate, and inconsistent with feminism’s basic demands for justice.


Even though pro-life feminists grant the good intentions of their pro-choice counterparts, they protest that the pro-choice position is flawed, morally inadequate, and inconsistent with feminism’s basic demands for justice.

Pro-life feminists protest that the pro-choice position is flawed, morally inadequate, and inconsistent with feminism’s basic demands for justice, even though they grant the good intentions of their pro-choice counterparts.
There is one more tricky fact about “but.”  Sometimes it is a discount word, as you have just seen.  But sometimes it is a synonym for “and.”  The following are less ambiguous than “but”—they always mean “and” (sometimes they mark premises) and never are discount words:

in addition

moreover

furthermore

also

When you see the word “but,” you have to use common sense to try to figure out if it is being used as a discount word or a conjunction. In any case, “but” is never used as an inference indicator.

2.8.3 Exercise

Strikethrough any discounted statements.

1.
For rational people, not wearing a helmet is not an essential feature in the enjoyment of riding a motorcycle, even if people ride them primarily for the thrill rather than for the transportation (p. 61).

2.
There is no desire to die, yet her judgment concerning recovery is markedly impaired (p. 171).

3.
The patient is generally lucid and sane.  Nonetheless, I believe she is functioning on a psychotic level with respect to ideas concerning her gangrenous feet (p. 170).

1.
For rational people, not wearing a helmet is not an essential feature in the enjoyment of riding a motorcycle, even if people ride them primarily for the thrill rather than for the transportation (p. 61).

2.
There is no desire to die, yet her judgment concerning recovery is markedly impaired (p. 171).

3.
The patient is generally lucid and sane.  Nonetheless, I believe she is functioning on a psychotic level with respect to ideas concerning her gangrenous feet (p. 170).

2.8.4 Exercise

Strike through any discounted statements.

1.
Since the condition of an incompetent patient makes it impossible to ascertain definitively his present desires, a third party acting on the patient’s behalf often cannot say with confidence that his treatment decision for the patient will further rather than frustrate the patient’s right to control his body.  Nevertheless, the goal of decision-making for incompetent patients should be to determine and effectuate, insofar as possible, the decision that the patient would have made if competent.  Ideally, both aspects of the patient’s right to bodily integrity--the right to consent to medical intervention and the right to refuse it—should be respected (209).

2. 
Although all evidence tending to demonstrate a person’s intent with respect to medical treatment should properly be considered by either surrogate decision-makers, or by a court in the event of any judicial proceedings, the probative value of such evidence may vary depending on the remoteness, consistency, and thoughtfulness of the prior statements or actions and the maturity of the person at the time of the statements or acts (210).

3.
Even if we could assess degrees of voluntariness reliably, we cannot know what penalties different degrees of misconduct deserve (676).

4.
Women have a moral right to full social equality.  They should not be restricted or subordinated because of their sex.  But this morally required equality cannot be realized without abortion’s certain control of reproduction.  Female social equality depends upon being able to compete and participate as freely as males can in the structures of educational and economic life. If a woman cannot control when and how she will be pregnant or rear chldren, she is at a distinct disadvantage, especially in our male-dominated world (368).

1.
Since the condition of an incompetent patient makes it impossible to ascertain definitively his present desires, a third party acting on the patient’s behalf often cannot say with confidence that his treatment decision for the patient will further rather than frustrate the patient’s right to control his body.  Nevertheless, the goal of decision-making for incompetent patients should be to determine and effectuate, insofar as possible, the decision that the patient would have made if competent.  Ideally, both aspects of the patient’s right to bodily integrity--the right to consent to medical intervention and the right to refuse it—should be respected (209).

2. 
Although all evidence tending to demonstrate a person’s intent with respect to medical treatment should properly be considered by either surrogate decision-makers, or by a court in the event of any judicial proceedings, the probative value of such evidence may vary depending on the remoteness, consistency, and thoughtfulness of the prior statements or actions and the maturity of the person at the time of the statements or acts (210).

3.
Even if we could assess degrees of voluntariness reliably, we cannot know what penalties different degrees of misconduct deserve (676).

4.
Women have a moral right to full social equality.  They should not be restricted or subordinated because of their sex.  But this morally required equality cannot be realized without abortion’s certain control of reproduction.  Female social equality depends upon being able to compete and participate as freely as males can in the structures of educational and economic life. If a woman cannot control when and how she will be pregnant or rear children, she is at a distinct disadvantage, especially in our male-dominated world (368). No discounts.

2.8.5 Exercise

When a discount word appears at the beginning of a paragraph or section, the whole previous paragraph or section may be discounted.

Strike through discounted statements.

1.

“The significance of the genetic connection between parent and child,” writes one commentator, “undoubtedly is part of what makes infertility a painful experience.  While adoption may satisfy one’s desire to nurture for a child, adoption cannot satisfy the yearning to create the child and to watch as a version of oneself unfolds and develops.” And it is the very fact that many reproductive technologies involve relinquishing access to children who are one’s genetic progeny that has led some to condemn the practice as “unnatural” or “immoral.”



But it is easy to place too much mystical importance on genetic connections.  After all, there is no statistically significant genetic difference between a genetic parent and child and the genetic relationship between full siblings. . . . (472).

2.

The biological model of the family, with this overlay of insistence upon expressing biological  relationships within a socially sanctioned, heterosexual marriage, has resulted in the creation of a grand presumption, to wit, that all “real” families follow this biological model.



But the reality has always been that some families have more than two parents. . . .  (472).

3.

Psychological equality and well-being is also at stake.  Women must enjoy the basic right of a person to the free exercise of heterosexual intercourse and full sexual expression, separated from procreation.  No less than males, women should be able to be sexually active without the constantly inhibiting fear of pregnancy.  Abortion is necessary for women’s sexual fulfillment and the growth of uninhibited feminine self-confidence and ownership of their sexual powers.



But true sexual and reproductive freedom means freedom to procreate as well as to inhibit fertility.  Pro-choice feminists are also worried that women’s freedom to reproduce will be curtailed through the abuse of sterilization and needless hysterectomies. . . .

1.

“The significance of the genetic connection between parent and child,” writes one commentator, “undoubtedly is part of what makes infertility a painful experience.  While adoption may satisfy one’s desire to nurture for a child, adoption cannot satisfy the yearning to create the child and to watch as a version of oneself unfolds and develops.” And it is the very fact that many reproductive technologies involve relinquishing access to children who are one’s genetic progeny that has led some to condemn the practice as “unnatural” or “immoral.”


But it is easy to place too much mystical importance on genetic connections.  After all, there is no statistically significant genetic difference between a genetic parent and child and the genetic relationship between full siblings. . . . (472).


2.

The biological model of the family, with this overlay of insistence upon expressing biological  relationships within a socially sanctioned, heterosexual marriage, has resulted in the creation of a grand presumption, to wit, that all “real” families follow this biological model.



But the reality has always been that some families have more than two parents. . . .  (472).

3.

Psychological equality and well-being is also at stake.  Women must enjoy the basic right of a person to the free exercise of heterosexual intercourse and full sexual expression, separated from procreation.  No less than males, women should be able to be sexually active without the constantly inhibiting fear of pregnancy.  Abortion is necessary for women’s sexual fulfillment and the growth of uninhibited feminine self-confidence and ownership of their sexual powers.



But true sexual and reproductive freedom means freedom to procreate as well as to inhibit fertility.  Pro-choice feminists are also worried that women’s freedom to reproduce will be curtailed through the abuse of sterilization and needless hysterectomies. . . . No discount. 



2.9 Background information

Human beings have figured out how to program computers to play chess, but not to diagram arguments.  Notice how I occasionally appeal to your common sense of the meaning or context of a word or passage.  That is what no one has figured out how to program into a computer.  It remains a matter of judgment, not a matter of rule-following: argument-identification in natural languages like English is a humanistic, not mechanical skill.

When you search for the argument in an essay or paragraph, do not try to diagram background information or asides.  Background information is found in the opening paragraphs of most of the essays in our textbook.  But you often find it inside of paragraphs containing argument.  Background information might explain technical information, or tell us who is stating the argument, or it might connect the argument in this paragraph with the bigger argument of an essay.  Do not try to diagram background information.  If you really want to put it into your diagram, consider if it is a restatement of something already in the argument.  If not, and you still think it is relevant to the argument, always link it to another relevant premise; never make it an independent premise.

You usually need to study the whole paragraph or section to tell what is background information.  So I will wait to give you exercises till you are ready to consider whole unadulterated paragraphs of argument from our textbook.  You are almost ready!

2.10 Illustrations and examples

Sometimes an example is used to prove a statement.  If it does, diagram it as if it is a premise for that statement.  Sometimes examples are used only to illustrate a point.  In this situation, you have a choice.  If you decide it can be left out of the argument, treat it as background information and strike it.  If you think it adds somehow to the argument, incorporate it with the statement it is illustrating in the same box.  Practice with these exercises until you are comfortable.

2.10.1 Exercise

We are concerned that people conducting research on sexual orientation work within homophobic frameworks, despite their occasional claims to the contrary.  A prime example is the German obstetrician Günter Dörner, whose descriptions of homosexuality ill-conceal his heterosexism.  Dörner writes about homosexuality as a “dysfunction” or “disease” based on “abnormal brain development.”  He postulate that it can be prevented by “optimizing” natural conditions or by “correcting abnormal hormonal concentrations prenatally” (emphasis added).  Another example is provided by psychoanalyst Richard Friedman, who engages in speculation about nongay outcome given proper therapeutic intervention (p. 524).



We are concerned that people conducting research on sexual orientation work within homophobic frameworks, despite their occasional claims to the contrary.  A prime example is the German obstetrician Günter Dörner, whose descriptions of homosexuality ill-conceal his heterosexism.  Dörner writes about homosexuality as a “dysfunction” or “disease” based on “abnormal brain development.”  He postulate that it can be prevented by “optimizing” natural conditions or by “correcting abnormal hormonal concentrations prenatally” (emphasis added).  Another example is provided by psychoanalyst Richard Friedman, who engages in speculation about nongay outcome given proper therapeutic intervention.





2.10.2 Exercise

Some people have appealed to previous research on homosexuality that has not been used to the detriment of homosexuals.  For example, Timothy Murphy invokes the work of Evelyn Hooker, which arguably provided evidence for the “normality” of homosexuals (527).

Some people have appealed to previous research on homosexuality that has not been used to the detriment of homosexuals.  For example, Timothy Murphy invokes the work of Evelyn Hooker, which arguably provided evidence for the “normality” of homosexuals (527).


2.10.3 Exercise

There is evidence that scientific research would be used in a manner that discriminates against homosexuals.  As already mentioned, in Singapore, homosexual sex acts are a criminal offense.  The Singapore Penal Code sections 377 and 377A threaten sentences ranging from two years to life imprisonment for homosexual people engaging in same-sex acts.  Not coincidentally, in light of our concerns, a National University of Singapore psychiatrist recently implied that “pre-symptomatic testing for homosexuality should be offered in the absence of treatment,” thereby accepting the idea that homosexuality is something in need of a cure. (528).

There is evidence that scientific research would be used in a manner that discriminates against homosexuals.  As already mentioned, in Singapore, homosexual sex acts are a criminal offense.  The Singapore Penal Code sections 377 and 377A threaten sentences ranging from two years to life imprisonment for homosexual people engaging in same-sex acts.  Not coincidentally, in light of our concerns, a National University of Singapore psychiatrist recently implied that “pre-symptomatic testing for homosexuality should be offered in the absence of treatment,” thereby accepting the idea that homosexuality is something in need of a cure.



2.11 Rhetorical questions

When you are looking at a paragraph of text, trying to find the argument, you can usually ignore  commands, exclamations, and questions:  just focus on the declarative statements (for these grammatical forms, see  2.1).  

There is one important exception to this rule: rhetorical questions.  Rhetorical questions do not ask for information (for example, “what time is it?” “where are you going?”) or indicate the issue to be raised in an essay, as you might find in an introductory remark (for example, “Can a feminist be pro-life?” “Is cloning humans improper?”).  Instead, they expect a definite answer from the reader.

Rhetorical questions almost always belong in your diagram.  They almost always are part of the author’s argument, either as premise or conclusion.  But before you put them into your diagram, you have to rewrite them as declarative statements.  Do this by stating within square brackets the answer they expect from the reader.  Then strike through the rhetorical questions themselves.

By the way, you should avoid rhetorical questions in your own writing.  It’s poor style.

2.11.1 Exercise

Rewrite the following passage, changing rhetorical questions into declarative statements.

By contrast with the improvements of the past 15 years in education and employment for disabled people, prenatal diagnosis and selective abortion communicate that disability is so terrible it warrants not being alive.  As prenatal diagnosis becomes more widespread, as the number of conditions that can be screened for increase, women fill be forced to decide whether or not they want to carry their pregnancies to term knowing that their children are predisposed to cancer, heart disease, diabetes, or depression.  As a society, do we wish to send the message to all such people now living that there should be “no more of your kind” in the future? If we use the technological solution of prenatal diagnosis to eliminate such people, what will become of our attitudes and practices toward any of those odd people who were missed by the technology and happened to be born? (p. 386-7).

By contrast with the improvements of the past 15 years in education and employment for disabled people, prenatal diagnosis and selective abortion communicate that disability is so terrible it warrants not being alive.  As prenatal diagnosis becomes more widespread, as the number of conditions that can be screened for increase, women fill be forced to decide whether or not they want to carry their pregnancies to term knowing that their children are predisposed to cancer, heart disease, diabetes, or depression.  As a society, do we wish to send the message to all such people now living that there should be “no more of your kind” in the future? [As a society, we do NOT wish to send the message to all such people now living that there should be “no more of your kind” in the future.] If we use the technological solution of prenatal diagnosis to eliminate such people, what will become of our attitudes and practices toward any of those odd people who were missed by the technology and happened to be born? [If we use the technological solution of prenatal diagnosis to eliminate such people, we will become intolerable (or cruel, or bad, or . . .) in our attitudes and practices toward any of those odd people who were missed by the technology and happened to be born.]

2.11.2 Exercise

You learn by doing! Rewrite the following passage, changing rhetorical questions into declarative statements. This is a continuation of the (amazing!) paragraph you just worked on.

What will happen to our attitudes toward and services for the millions of people whose disabilities occur in childhood, adolescence, or later in life through accident, disease, or anything that could not be detected prenatally?  What attention will we continue to give to the enforcement of civil rights or to the barely begun environmental and institutional changes that seek to remove barriers for disabled people and to encourage their full social, economic and political participation? (p. 387).

What will happen to our attitudes toward and services for the millions of people whose disabilities occur in childhood, adolescence, or later in life through accident, disease, or anything that could not be detected prenatally? [BAD things will happen to our attitudes toward and services for the millions of people whose disabilities occur in childhood, adolescence, or later in life through accident, disease, or anything that could not be detected prenatally.]  What attention will we continue to give to the enforcement of civil rights or to the barely begun environmental and institutional changes that seek to remove barriers for disabled people and to encourage their full social, economic and political participation? [We will NOT continue to give good attention to the enforcement of civil rights or to the barely begun environmental and institutional changes that seek to remove barriers for disabled people and to encourage their full social, economic and political participation.]
2.11.3 Exercise

Decide if the following passage contains rhetorical questions.  If it does, rewrite them.  Hint:  if an author answers her own question, it is not rhetorical and the question can be left out of the argument and diagram: in that case, strike through it.  But the answer she gives will almost always be part of the argument.  By the way, strike through any background information in this passage.

How is an individual woman’s act of abortion detrimental to herself, possible other children, or people with disabilities in the world?  The consequences for the woman and for any other children she may bear and rear are at least as serious as those for current and future generations of people with disabilities. If women abort children for problems they can diagnose but feel they cannot cope with, what might happen when their children inevitably develop characteristics that women dislike or find overwhelming?  Ruth Hubbard, a feminist biologist who writes about the new reproductive technologies, puts it well: “. . . even with all conceivable methods of prenatal screening and fetal therapy, having children and raising them will continue to be a gamble.  And our decisions to have them will  continue to need to be based on that peculiar mix of unpredictability and planning that makes childbearing and rearing often joyful, often painful, and always chancy” (“Personal Courage Is Not Enough,” Test-tube Women, Pandora Press, 1984) [p. 387].

How is an individual woman’s act of abortion detrimental to herself, possible other children, or people with disabilities in the world?  The consequences for the woman and for any other children she may bear and rear are at least as serious as those for current and future generations of people with disabilities. If women abort children for problems they can diagnose but feel they cannot cope with, what might happen when their children inevitably develop characteristics that women dislike or find overwhelming?  Ruth Hubbard, a feminist biologist who writes about the new reproductive technologies, puts it well: “. . . even with all conceivable methods of prenatal screening and fetal therapy, having children and raising them will continue to be a gamble.  And our decisions to have them will  continue to need to be based on that peculiar mix of unpredictability and planning that makes childbearing and rearing often joyful, often painful, and always chancy” (“Personal Courage Is Not Enough,” Test-tube Women, Pandora Press, 1984).  


2.12 Topic sentence conclusions

Any well written paragraph, and any well written section, contains a topic sentence.  Remember topic sentences from high school grammar or English composition? They express the main idea of the paragraph.  The topic sentence is usually (not always!) the first or last sentence. 

When you are looking at a paragraph that contains an argument, the topic sentence will usually contain the conclusion of the argument of that paragraph.   This is a helpful thing to know when you identify arguments in a paragraph.  Often, when there is no inference indicator in a paragraph that seems to be giving reasons (as opposed to background information), the topic sentence is the conclusion.  If there are no inference indicators, the other sentences in the paragraph (once you have weeded out the background information and discounted statements) will either be independent or linked premises supporting the conclusion.

2.12.1 Exercise 

Mark the topic sentence in the following paragraph with an arrow. Then diagram the argument in the paragraph.

The lives of our loved ones can be seriously compromised by caring for us.  The burdens of providing care or even just supervision twenty-four hours a day, seven days a week are often overwhelming.  When this kind of caregiving goes on for years, it leaves the caregiver exhausted, with no time for herself or life of her own.  Ultimately, even her health is often destroyed.  But it can also be emotionally devastating simply to live with a spouse who is increasingly distant, uncommunicative, unresponsive, foreign, and unreachable.  Other family members’ needs often go unmet as the caring capacity of the family is exceeded.  Social life and friendships evaporate, as there is no opportunity to go out to see friends and the home is no longer a place suitable for having friends in (294).

8 The lives of our loved ones can be seriously compromised by caring for us.  1The burdens of providing care or even just supervision twenty-four hours a day, seven days a week are often overwhelming.  2 When this kind of caregiving goes on for years, it leaves the caregiver exhausted, with no time for herself or life of her own.  3 Ultimately, even her health is often destroyed.  4 But it can also be emotionally devastating simply to live with a spouse who is increasingly distant, uncommunicative, unresponsive, foreign, and unreachable.  5 Other family members’ needs often go unmet as the caring capacity of the family is exceeded.  6 Social life and friendships evaporate, as 7 there is no opportunity to go out to see friends and the home is no longer a place suitable for having friends in (294).



2.12.2 Exercise 

Mark the topic sentence in the following paragraph with an arrow. Then diagram the argument in the paragraph.

We must also acknowledge that the lives of our loved ones can be devastated just by having to pay for health care for us.  One part of the recent SUPPORT study documented the financial aspects of caring for a dying member of a family.  Only those who had illnesses severe enough to give them less than a 50 percent chance to live six more months were included in this study. When these patients survived their initial hospitalization and were discharged about one-third required considerable caregiving from their families; in 20 percent of cases a family member had to quit work or make some other major lifestyle change; almost one-third of these families lost all of their savings; and just under 30 percent lost a major source of income (294).

4 We must also acknowledge that the lives of our loved ones can be devastated just by having to pay for health care for us.  1 One part of the recent SUPPORT study documented the financial aspects of caring for a dying member of a family.  2 Only those who had illnesses severe enough to give them less than a 50 percent chance to live six more months were included in this study. 3 When these patients survived their initial hospitalization and were discharged about one-third required considerable caregiving from their families; in 20 percent of cases a family member had to quit work or make some other major lifestyle change; almost one-third of these families lost all of their savings; and just under 30 percent lost a major source of income.





2.12.3 Exercise

Mark the topic sentence and inference indicators. Then diagram the argument in the paragraph.

If talking about money sounds venal or trivial, remember that much more than money is normally at stake here.  When someone has to quit work, she may well lose her career.  Savings decimated late in life cannot be recouped in the few remaining years of employability, so the loss compromises the quality of the rest of the caregiver’s life.  For a young person, the chance to go to college may be lost to the attempt to pay debts due to an illness in the family, and this decisively shapes an entire life (294).

1 If talking about money sounds venal or trivial, remember that much more than money is normally at stake here.  2 When someone has to quit work, she may well lose her career.  3 Savings decimated late in life cannot be recouped in the few remaining years of employability, so  4 the loss compromises the quality of the 


rest of the caregiver’s life.  5 For a young person, the chance to go to college may be lost to the attempt to pay debts due to an illness in the family, and 6 this decisively shapes an entire life (294).








2.12.4 Exercise 

Mark the topic sentence in the following paragraph with an arrow. Strike through any discounted or background information.  Look for restatements, too!  Then diagram the argument in the paragraph.

The moral right to control one’s own body does apply to cases of organ transplants, mastectomies, contraception, and sterilization; but it is not a conceptualization adequate for abortion. The abortion dilemma is caused by the fact that 266 days following a conception in one body, another body will emerge.  One’s own body no longer exists as a single unit but is engendering another organism’s life.  This dynamic passage from conception to birth is genetically ordered and universally found in the human species.  Pregnancy is not like the growth of cancer or infestation by a biological parasite:  it is the way every human being enters the world.  Strained philosophical analogies fail to apply:  having a baby is not like rescuing a drowning person, being hooked up to a famous violinist’s artificial life-support system, donating organs for transplant—or anything else (368).

5The moral right to control one’s own body does apply to cases of organ transplants, mastectomies, contraception, and sterilization; but it is not a conceptualization adequate for abortion. 1The abortion dilemma is caused by the fact that 266 days following a conception in one body, another body will emerge.  One’s own body no longer exists as a single unit but is engendering another organism’s life.  2This dynamic passage from conception to birth is genetically ordered and universally found in the human species.  3Pregnancy is not like the growth of cancer or infestation by a biological parasite:  it is the way every human being enters the world.  4Strained philosophical analogies fail to apply:  having a baby is not like rescuing a drowning person, being hooked up to a famous violinist’s artificial life-support system, donating organs for transplant—or anything else (368).










2.13 Sample quizzes

You now have all the skills you need to take the quiz.  The quiz will be one paragraph, taken from the text.  You will diagram the argument in the paragraph, using all the skills you have learned.

Here are sample quizzes for you to practice.  Remember, your answer does not have to look exactly like mine!  Many decisions--about linking or independent premises, about how much of an example to combine into one box, about what is background information or restatement—have many possible answers that would be awarded full credit.

Grade your own work by looking at my answer (and cutting yourself some slack on the details!).  If you correctly identify any inference in the paragraph, you will earn at least a D.  If you correctly identify the conclusion of the paragraph, you will earn at least a C.  If you have the major structure of the argument correct, you will earn at least a B.  If you have done a defensible job handling the details of linking/independent premises, examples, background information and restatement, you will earn an A.

After you diagram each, check your work.  The answer is in two parts.  First I give you my marked text, then my diagram.  If you are stuck, you can look at my marked text before you diagram.  

2.13.1 Sample


Mr. Arato’s oncologists determined that a course of F.A.M. chemotherapy was indicated for several reasons.  According to their testimony, the high statistical mortality of pancreatic cancer is in part a function of what is by far the most common diagnostic scenario—the discovery of the malignancy well after it has metastasized to distant sites, spreading throughout the patient’s body.  As noted, in Mr. Arato’s case, the tumor was comparatively localized, having been discovered in the tail of the pancreas by chance in the course of surgery to remove the diseased kidney.  Related to the “silent” character of pancreatic cancer is the fact that detection in such an advanced state usually means that the tumor cannot as a practical matter be removed, contributing to the high mortality rate.  In Mr. Arato’s case, however, the operating surgeon determined that it was possible to excise cleanly the tumorous portion of the pancreas and to leave a margin of about one-half centimeter around the surgical site, a margin that appeared clinically  to be clear of cancer cells. Third, the mortality rate is somewhat lower, according to defense testimony, for pancreatic tumors located in the distal part of the organ than for those found in the main body.  Finally, then-recent experimental studies on the use of F.A.M. chemotherapy in conjunction with therapeutic radiation treatments had shown promising response rates—on the order of several months of extended life—among pancreatic cancer patients (77-78).

Marked text for answer.





Mr. Arato’s oncologists determined that a course of F.A.M. chemotherapy was indicated for several reasons.  [First] According to their testimony, <the high statistical mortality of pancreatic cancer is in part a function of what is by far the most common diagnostic scenario—the discovery of the malignancy well after it has metastasized to distant sites, spreading throughout the patient’s body>.  As noted, in Mr. Arato’s case, the tumor was comparatively localized, having been discovered in the tail of the pancreas by chance in the course of surgery to remove the diseased kidney.  Related to the “silent” character of pancreatic cancer is the fact that detection in such an advanced state usually means that the tumor cannot as a practical matter be removed, contributing to the high mortality rate.   [Second]In Mr. Arato’s case, however, the operating surgeon determined that it was possible to excise cleanly the tumorous portion of the pancreas and to leave a margin of about one-half centimeter around the surgical site, a margin that appeared clinically  to be clear of cancer cells. Third, the mortality rate is somewhat lower, according to defense testimony, for pancreatic tumors located in the distal part of the organ than for those found in the main body.  Finally, then-recent experimental studies on the use of F.A.M. chemotherapy in conjunction with therapeutic radiation treatments had shown promising response rates—on the order of several months of extended life—among pancreatic cancer patients (77-78).




Diagram






2.13.2 Sample

I propose that we grant that the fetus is a person from the moment of conception.  How does the argument go from her?  Something like this, I take it.  Every person has a right to life.  So the fetus has a right to life.  No doubt the mother has a right to decide what shall happen in and to her body; everyone would grant that.  But surely a person’s right to life is stronger and more stringent than the mother’s right to decide what happens in and to her body, and so outweighs it.  So the fetus may not be killed; an abortion may not be performed. (333).

Marked text.






I propose that we grant that the fetus is a person from the moment of conception.  <How does the argument go from her?>  <Something like this, I take it.>  Every person has a right to life.  So the fetus has a right to life.  No doubt the mother has a right to decide what shall happen in and to her body; everyone would grant that.  But surely a person’s right to life is stronger and more stringent than the mother’s right to decide what happens in and to her body, and so outweighs it.  So the fetus may not be killed; an abortion may not be performed. (333).




Diagram













2.13.3 Sample

The claim that what makes killing wrong is the loss of the victim’s future is directly supported by two considerations.  In the first place, this theory explains why we regard killing as one of the worst of crimes.  Killing is especially wrong, because it deprives the victim of more than perhaps any other crime.  In the second place, people with AIDS or cancer who know they are dying believe, of course, that dying is a very bad thing for them  They believe that the loss of a future to them that they would otherwise have experienced is what makes their premature death a very bad thing for them.  A better theory of the wrongness of killing would require a different natural property associated with killing which better fits with the attitudes of the dying.  What could it be?(355).

Marked text



1 The claim that what makes killing wrong is the loss of the victim’s future is directly supported by two considerations.  2 In the first place, this theory explains why we regard killing as one of the worst of crimes.  3 Killing is especially wrong, because it deprives the victim of more than perhaps any other crime.  4 In the second place, people with AIDS or cancer who know they are dying believe, of course, that dying is a very bad thing for them  5 They believe that the loss of a future to them that they would otherwise have experienced is what makes their premature death a very bad thing for them.  6 A better theory of the wrongness of killing would require a different natural property associated with killing which better fits with the attitudes of the dying.  What could it be? [7 There could not be a better theory of the wrongness of killing.](355).



Diagram








2.13.4 Sample

Antiabortion campaigners imagine  that women often make frivolous and irresponsible decisions about abortion, but feminists recognize that women have abortions for a wide variety of compelling reasons.  Some women, for instance, find themselves seriously ill and incapacitated throughout pregnancy; they cannot continue in their jobs and may face insurmountable difficulties in fulfilling their responsibilities at home.  Many employers and schools will not tolerate pregnancy in their employees or students, and not every woman is able to put her job, career, or studies on hold.  Women of limited means may be unable to take adequate care of children they have already borne, and they may know that another mouth to fee will reduce their ability to provide for their existing children.  Women who suffer from chronic disease, who believe themselves too young or too old to have children, or who are unable to maintain lasting relationships may recognize that they will not be able to are properly for a child when they face the decision.  Some who are homeless, addicted to drugs, or diagnosed as carrying the AIDS virus may be unwilling to allow a child to enter the world with the handicaps that would result from the mother’s condition.  If the fetus is a result of rape or incest, then the psychological pain of carrying it may be unbearable, and the woman may recognize that their attitude to the child after birth will be tinged with bitterness.  Some women learn that the fetuses that they carry have serious chromosomal anomalies and consider it best to prevent them from being born with a condition that is bound to cause them to suffer.  Others, knowing the fathers to be brutal and violent, may be unwilling to subject a child to the beatings or incestuous attacks thy anticipate; some may have no other realistic way to remove the child (or themselves) from the relationship (361).

Marked text





Antiabortion campaigners imagine  that women often make frivolous and irresponsible decisions about abortion, but  feminists recognize that 1 women have abortions for a wide variety of compelling reasons.  2 Some women, for instance, find themselves seriously ill and incapacitated throughout pregnancy; they cannot continue in their jobs and may face insurmountable difficulties in fulfilling their responsibilities at home.  3 Many employers and schools will not tolerate pregnancy in their employees or students, and not every woman is able to put her job, career, or studies on hold.  4 Women of limited means may be unable to take adequate care of children they have already borne, and they may know that another mouth to feed will reduce their ability to provide for their existing children.  5 Women who suffer from chronic disease, who believe themselves too young or too old to have children, or who are unable to maintain lasting relationships may recognize that they will not be able to care properly for a child when they face the decision.  6 Some who are homeless, addicted to drugs, or diagnosed as carrying the AIDS virus may be unwilling to allow a child to enter the world with the handicaps that would result from the mother’s condition.  7 If the fetus is a result of rape or incest, then the psychological pain of carrying it may be unbearable, and the woman may recognize that their attitude to the child after birth will be tinged with bitterness.  8 Some women learn that the fetuses that they carry have serious chromosomal anomalies and consider it best to prevent them from being born with a condition that is bound to cause them to suffer.  9 Others, knowing the fathers to be brutal and violent, may be unwilling to subject a child to the beatings or incestuous attacks thy anticipate; some may have no other realistic way to remove the child (or themselves) from the relationship (361).
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2.13.5 Sample


The safest form of birth control involves the use of barrier methods (condoms or diaphragms) in combination with spermicidal foams or jelly.  But these methods also pose difficulties for women.  They are sometimes socially awkward to use.  Young women are discouraged from preparing for sexual activity that might never happen and are offered instead romantic models of spontaneous passion; few films or novels interrupt scenes of seduction for a partner to fetch contraceptives.  Many women find their male partners unwilling to use barrier methods of contraception, and they often find themselves in no position to insist.  Further, cost is a limiting factor for many women.  Condoms and spermicides are expensive and are not covered under most health care plans.  Only one contraceptive option offers women safe and fully effective birth control: barrier methods with the backup option of abortion. (363).

Marked text




The safest form of birth control involves the use of barrier methods (condoms or diaphragms) in combination with spermicidal foams or jelly.  But 1 these methods also pose difficulties for women.  2 They are sometimes socially awkward to use.  3 Young women are discouraged from preparing for sexual activity that might never happen and are offered instead romantic models of spontaneous passion; few films or novels interrupt scenes of seduction for a partner to fetch contraceptives.  4 Many women find their male partners unwilling to use barrier methods of contraception, and they often find themselves in no position to insist.  Further,  5 cost is a limiting factor for many women.   6 Condoms and spermicides are expensive and are not covered under most health care plans.  Only one contraceptive option offers women safe and fully effective birth control: barrier methods with the backup option of abortion. (363).



Diagram







2.13.6 Sample

Feminist accounts explore the connections between particular social policies and the general patterns of power relationships in our society. . . .  When we place abortion in the larger political context, we see that most of the groups active in the struggle to prohibit abortion also support other conservative measures to maintain the forms of dominance that characterize patriarchy (and often class and racial oppression as well).  The movement against abortion is led by the Catholic church and other conservative religious institutions, which explicitly endorse not only fetal rights but also male dominance in the home and the church.  Most opponents of abortion also oppose virtually all forms of birth control and all forms of sexuality other than monogamous, reproductive sex; usually, they also resist having women assume positions of authority in dominant public institutions.  Typically, antiabortion activists support conservative economic measures that protect the interests of the privileged classes of society and ignore the needs of the oppressed and disadvantaged.  Although they stress their commitment to preserving life, many systematically work to dismantle key social programs that provide life necessities to the under class.  Moreover, some current campaigns against abortion retain elements of the racism that dominated the North American abortion literature in the early years of the twentieth century, wherein abortion was opposed on the grounds that it amounted to racial suicide on the part of whites. (365).

Marked text



Feminist accounts explore the connections between particular social policies and the general patterns of power relationships in our society. . . .   1 When we place abortion in the larger political context, we see that most of the groups active in the struggle to prohibit abortion also support other conservative measures to maintain the forms of dominance that characterize patriarchy (and often class and racial oppression as well).  2 The movement against abortion is led by the Catholic church and other conservative religious institutions, which explicitly endorse not only fetal rights but also male dominance in the home and the church.  3 Most opponents of abortion also oppose virtually all forms of birth control and all forms of sexuality other than monogamous, reproductive sex; usually, they also resist having women assume positions of authority in dominant public institutions.  4 Typically, antiabortion activists support conservative economic measures that protect the interests of the privileged classes of society and ignore the needs of the oppressed and disadvantaged.  Although they stress their commitment to preserving life,   5 many systematically work to dismantle key social programs that provide life necessities to the under class.  6 Moreover, some current campaigns against abortion retain elements of the racism that dominated the North American abortion literature in the early years of the twentieth century, wherein abortion was opposed on the grounds that it amounted to racial suicide on the part of whites. (365).
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2.13.7 Sample


Pro-choice feminism argues that a woman choosing an abortion is exercising a basic right of bodily integrity granted in our common law tradition.  If she does not choose to be physically involved in the demands of a pregnancy and birth, she should not be compelled to be so against her will.  Just because it is her body which is involved, a woman should have the right to terminate any pregnancy, which at this point in medical history is tantamount to terminating fetal life.  No one can be forced to donate an organ or submit to other invasive physical procedures for however good a cause.  Thus no woman should be subject to “compulsory pregnancy.”  And it should be noted that in pregnancy much more than a passive biological process is at stake (367).

Marked text




Pro-choice feminism argues that  1 a woman choosing an abortion is exercising a basic right of bodily integrity granted in our common law tradition.  2 If she does not choose to be physically involved in the demands of a pregnancy and birth, she should not be compelled to be so against her will.  Just because  3 it is her body which is involved,  4 a woman should have the right to terminate any pregnancy, which at this point in medical history is tantamount to terminating fetal life.  5 No one can be forced to donate an organ or submit to other invasive physical procedures for however good a cause.  Thus 6 no woman should be subject to “compulsory pregnancy.”  And it should be noted that in pregnancy much more than a passive biological process is at stake.
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2.13.8 Sample


It is easy to place too much mystical importance on genetic connections [between parent and child].  After all, there is no statistically significant genetic difference between a genetic parent and child and the genetic relationship between full siblings.  It is the added psychological aspects of parenting that give the parental genetic connection such an entitlement to legal recognition.  Nor should the fact that one’s child shares one’s genes become the basis for a property rights argument, in which the child is in some sense “owned” by the parent.  Not only is this a dangerous doctrine that long led to child abuse and child labor, it fails to distinguish between owning the raw materials and owning the creation arising from them. (472)

Marked text




1 It is easy to place too much mystical importance on genetic connections [between parent and child].  After all, 2 there is no statistically significant genetic difference between a genetic parent and child and the genetic relationship between full siblings.  3 It is the added psychological aspects of parenting that give the parental genetic connection such an entitlement to legal recognition.  4 Nor should the fact that one’s child shares one’s genes become the basis for a property rights argument, in which the child is in some sense “owned” by the parent.  5 Not only is this a dangerous doctrine that long led to child abuse and child labor, 6 it fails to distinguish between owning the raw materials and owning the creation arising from them. (472)
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2.13.9 Sample


Normality can be defined in a number of ways, but none of them direct us in the making of moral judgments.  First, normality can be reasonably defined in a descriptive sense as a statistical average.  Appeals to what is usual, regular, and/or conforming to existing standards ultimately collapse into statistical statements.  For an ethical evaluation of homosexuality, it is irrelevant whether homosexuality is normal or abnormal in this sense.  All sorts of human traits and behaviors are abnormal n a statistical sense, but this is not a sufficient justification for a negative ethical judgment about them.  Second, “normality” might be defined in a functional sense, where what is normal is something that has served an adaptive function from an evolutionary perspective.  This definition of normality  can be found in sociobiology, which seeks biological explanations for social behavior.  There are a number of serious problems with the sociobiological project.  For the purposes of this argument, however, suffice it to say that even if sociobiology could establish that certain behavioral traits were the direct result of biological evolution, no moral assessment of these traits would follow.  To illustrate our point,  suppose any trait that can be reasonably believed to have served an adaptive function at some evolutionary stage is  normal.  Some questions arise that exemplify the problems with deriving normative conclusions from descriptive science.  Are traits that are perpetuated simply through linkage to selectively advantageous loci less “normal” than those for which selection was direct?  Given that social contexts now exert “selective pressure” in a way that nature once did, how are we to decide which traits are to be intentionally fostered?(526-7).

Marked text





Normality can be defined in a number of ways, but 1 none of them direct us in the making of moral judgments.  First, 2 normality can be reasonably defined in a descriptive sense as a statistical average.  3 Appeals to what is usual, regular, and/or conforming to existing standards ultimately collapse into statistical statements.  4 For an ethical evaluation of homosexuality, it is irrelevant whether homosexuality is normal or abnormal in this sense.  All sorts of human traits and behaviors are abnormal n a statistical sense, but 5 this is not a sufficient justification for a negative ethical judgment about them.  Second, 6 “normality” might be defined in a functional sense, where what is normal is something that has served an adaptive function from an evolutionary perspective.  7 This definition of normality can be found in sociobiology, which seeks biological explanations for social behavior.  There are a number of serious problems with the sociobiological project.  For the purposes of this argument, however, suffice it to say that even if sociobiology could establish that certain behavioral traits were the direct result of biological evolution, 8 no moral assessment of these traits would follow.  9 To illustrate our point,  suppose any trait that can be reasonably believed to have served an adaptive function at some evolutionary stage is normal.  Some questions arise that exemplify the problems with deriving normative conclusions from descriptive science.  Are traits that are perpetuated simply through linkage to selectively advantageous loci less “normal” than those for which selection was direct?  [10 Traits that are perpetuated simply through linkage to selectively advantageous loci are NOT less “normal” than those for which selection was direct.] Given that 11 social contexts now exert “selective pressure” in a way that nature once did, how are we to decide which traits are to be intentionally fostered? [ . . .  12 we CANNOT decide which traits are to be intentionally fostered] (526-7).



Diagram













2.13.10 Sample


In the United States, several scholars and lesbian and gay activists have argued that establishing a genetic basis for sexual orientation will help make the case for lesbian and gay rights.  The idea is that scientific research will show that people do not choose their sexual orientations and therefore they should not be punished or discriminated against in virtue of them.  This general argument is flawed in two ways.  First, we do not need to show that a trait is genetically determined to argue that it is not amenable to change at will.  This is clearly shown by the failure rates of conversion “therapies.”  These failures establish that sexual orientation is resistant to change, but they do not say anything about its ontogeny or etiology.  Sexual orientation can be unchangeable without being genetically determined.  There is strong observational evidence to support the claim that sexual orientation is difficult to change, but this evidence is perfectly compatible with nongenetic accounts of the origins of sexual orientations.  More importantly, we should not embrace arguments that seek to legitimate homosexuality be denying that there is any choice in sexual preference because the implicit premise of such arguments is that if there was a choice, then homosexuals would be blameworthy (527-8).

Marked text




In the United States, several scholars and lesbian and gay activists have argued that establishing a genetic basis for sexual orientation will help make the case for lesbian and gay rights.  The idea is that scientific research will show that people do not choose their sexual orientations and therefore they should not be punished or discriminated against in virtue of them.  1 This general argument is flawed in two ways.  First, 2 we do not need to show that a trait is genetically determined to argue that it is not amenable to change at will.  3 This is clearly shown by the failure rates of conversion “therapies.”  4 These failures establish that sexual orientation is resistant to change, but 5 they do not say anything about its ontogeny or etiology.  6 Sexual orientation can be unchangeable without being genetically determined.  7 There is strong observational evidence to support the claim that sexual orientation is difficult to change, but 8 this evidence is perfectly compatible with nongenetic accounts of the origins of sexual orientations.  More importantly, 9 we should not embrace arguments that seek to legitimate homosexuality be denying that there is any choice in sexual preference because 10 the implicit premise of such arguments is that if there was a choice, then homosexuals would be blameworthy (527-8).

Diagram










Fetuses possess the genetic code of human beings.








Abortion is wrong.





Fetuses possess the genetic code of human beings.





Abortion is wrong.





There are so many cancers, the lethality of which varies dramatically.





Telling a patient that cancer might recur and would then be incurable, without providing at least some general information concerning the virulence of the particular cancer at issue as reflected in mortality tables, was “meaningless.”





Continued medical interventions cannot realistically be thought to benefit patients in persistent vegetative states in any way.





They may be ethically forgone.





Human life is the foundation for all other human goods.





It has a special value and significance.





Withholding medically assisted nutrition involves an omission rather than a positive action.





Withholding medically assisted nutrition could not be a matter of killing.





The contexts and clinical settings in which physician and patient interact and exchange information material to therapeutic decisions are multifarious.





The informational needs and degree of dependency of individual patients [are] various.





The professional relationship itself [is] an intimate and irreducibly judgment-laden one





It is unwise to require as a matter of law that a particular species of information be disclosed.





Marking the paragraph with arrows and underlining is just to help you—the only thing I’ll grade you on is the diagram itself.  





She is functioning on a psychotic level with respect to ideas concerning her gangrenous feet.





Her judgment concerning recovery is markedly impaired.





She does not appreciate the dangers to her life.





She is incompetent to decide this issue.





For some incompetent patients it might be impossible to be clearly satisfied as to the patient’s intent either to accept or reject the life-sustaining treatment.





In such cases, a surrogate decision-maker cannot presume that treatment decisions made by a third party on the patient’s behalf will further the patient’s right to self-determination.





In the absence of adequate proof of the patient’s wishes, it is naïve to pretend that the right to self-determination serves as the basis for substituted decision-making.





Like other chronic diseases—such as type I diabetes mellitus, which requires the patient to administer insulin over a lifetime—alcoholism requires the patient to assume responsibility for participating in continuous treatment.





The high success rates of some alcoholism treatment programs indicate that many patients can accept responsibility for their treatment.





ARESLD (alcohol-related end-stage liver disease), one of the sequelae of alcoholism, results from 10 to 20 years of heavy alcohol consumption.





The risk of ARESLD increases with the amount of alcohol consumed and with the duration of heavy consumption.





Alcoholics should be held responsible for seeking and obtaining treatment that could prevent the development of late-stage complications such as ARESLD.





(1) We cannot pass judgment fairly.





(2) We cannot know what penalties different degrees of misconduct deserve.





(3) Judgments of this kind could not be made consistently in our medical system





A fundamental requirement of a fair system in allocating scarce resources is that it treat all in need of certain goods on the same standard, without unfair discrimination by group.





We do not seek to determine whether a particular transplant candidate is an abusive parent or a dutiful daughter; whether candidates cheat on their income taxes or their spouses; or whether potential recipients pay their parking tickets or routinely lie when they think it is in their best interests; we refrain from considering such judgments.





5.	Paternalism is justified:  doctors may sometimes override patients’ prima facie rights to information about risks and treatments or about their own conditions in order to prevent harm to their health.





4.	Worsening health or hastening death can be assumed to be contrary to patients’ own true value orderings.








3.	Health and prolonged life can be assumed to have priority among preferences for patients who place themselves under physicians’ care.





2.	Disclosure of information is sometimes likely to be detrimental to the patient’s health, perhaps even to hasten his death.








1.	Disclosure of information to the patient will sometimes increase the likelihood of depression and physical deterioration, or result in choice of medically inoptimal treatment.





1.	Disclosure of information to the patient will sometimes increase the likelihood of depression and physical deterioration, or result in choice of medically inoptimal treatment.





3.	Health and prolonged life can be assumed to have priority among preferences for patients who place themselves under physicians’ care.





2.	Disclosure of information is sometimes likely to be detrimental to the patient’s health, perhaps even to hasten his death.








4.	Worsening health or hastening death can be assumed to be contrary to patients’ own true value orderings.








5.	Paternalism is justified:  doctors may sometimes override patients’ prima facie rights to information about risks and treatments or about their own conditions in order to prevent harm to their health.





She tends to believe that her feet are black because of soot or dirt.





She does not believe her physicians about the serious infection.





There is an adamant belief that her feet will heal without surgery.





She refuses even to consider the possibility that amputation is necessary to save her life.





She is functioning on a psychotic level with respect to ideas concerning her gangrenous feet.





Her judgment concerning recovery is markedly impaired.





She does not appreciate the dangers to her life.





She is incompetent to decide this issue.





Many people may have spoken of their desires in general or casual terms, or indeed, never considered or resolved the issue at all.





Effectuating another person’s right to self-determination presupposes that the substitute decision-maker knows what the person would have wanted.





For some incompetent patients it might be impossible to be clearly satisfied as to the patient’s intent either to accept or reject the life-sustaining treatment.





In cases [where people may have spoken of their desires in general or casual terms, or indeed, never considered or resolved the issue at all], a surrogate decision-maker cannot presume that treatment decisions made by a third party on the patient’s behalf will further the patient’s right to self-determination.





In the absence of adequate proof of the patient’s wishes, it is naïve to pretend that the right to self-determination serves as the basis for substituted decision-making.





We have genuine and well-grounded doubts about comparative degrees of voluntariness.





We cannot pass judgment fairly.





We cannot know what penalties different degrees of misconduct deserve.





Judgments of this kind could not be made consistently in our medical system—and a fundamental requirement of a fair system in allocating scarce resources is that it treat all in need of certain goods on the same standard, without unfair discrimination by group





Carr earns more than the surgeon.





We do not seek to determine whether a particular transplant candidate is an abusive parent or a dutiful daughter; whether candidates cheat on their income taxes or their spouses; or whether potential recipients pay their parking tickets or routinely lie when they think it is in their best interests; we refrain from considering such judgments.





Carr can be neither the surgeon nor the nurse.





Carr must be the tech.





Neither Allen nor Brown are the tech.





Brown has a sister





Brown cannot be the nurse.





Brown is neither the nurse nor the tech.





Brown must be the surgeon.





Allen is neither the tech nor the surgeon.





Allen must be the nurse.





Allen is nurse; Brown surgeon; and Carr tech.





Ugly, huh!  There are alternative ways to diagram my explanation.  Your way might be different and still be right. 





This is the first diagram you have seen in which one premise can support two different conclusions.





The more you practice and think about this stuff, the better you get!





3. After childbirth a woman will either be a mother who must undertake a twenty-year responsibility for childrearing, or face giving up her child for adoption or institutionalization; [in other words,] hers  the burden.





2. Gestation and childbirth involve physical and psychological risks; [in other words,] hers the risks.





1. During pregnancy, a woman’s whole life and energies will be actively involved in the nine-month process; [in other words,] hers is the body.





Notice how I combined two sentences in each of boxes 1, 2 and 3, using the phrase “in other words.”





4. It is only just that she alone should be free to decide on pregnancy or abortion.





1. The meaning and value of fetal life are constructed by the woman; without this personal conferral there only exists a biological, physiological process.





2. Fetal interests or fetal rights can never outweigh the woman’s prior interest and rights.





2. Fetal interests or fetal rights can never outweigh the woman’s prior interest and rights.





1. The value of fetal life is contingent upon the woman’s free consent and subjective acceptance; [in other words,] the fetus must be invested with maternal valuing in order to become human; [in other words,] this process of “humanization” through personal consciousness and “sociality” can only be bestowed by the woman in whose body and psychosocial system a new life must mature; [in other words,] the meaning and value of fetal life are constructed by the woman; without this personal conferral there only exists a biological, physiological process.





1. The value of fetal life is contingent upon the woman’s free consent and subjective acceptance; [in other words,] the fetus must be invested with maternal valuing in order to become human; [in other words,] this process of “humanization” through personal consciousness and “sociality” can only be bestowed by the woman in whose body and psychosocial system a new life must mature; [in other words,] the meaning and value of fetal life are constructed by the woman; without this personal conferral there only exists a biological, physiological process.





2. Fetal interests or fetal rights can never outweigh the woman’s prior interest and rights.





1. The value of fetal life is contingent upon the woman’s free consent and subjective acceptance; [in other words,] the fetus must be invested with maternal valuing in order to become human; [in other words,] this process of “humanization” through personal consciousness and “sociality” can only be bestowed by the woman in whose body and psychosocial system a new life must mature; [in other words,] the meaning and value of fetal life are constructed by the woman; without this personal conferral there only exists a biological, physiological process; [in other words,] prior to her own free choice and conscious investment, a woman cannot be described as “mother’ nor can “child” be said to exist.





2. Fetal interests or fetal rights can never outweigh the woman’s prior interest and rights; [in other words,] if a woman does not consent to invest her pregnancy with meaning or value, then the merely biological process can be freely terminated.





In cases of voluntary pregnancy, a woman can withdraw consent if fetal genetic defects or some other problem emerges at any time before birth.





Late abortion should be granted without legal restrictions; [in other words,]  even the minimal qualifications and limitations on women embedded in Roe v. Wade are unacceptable.





In cases of voluntary pregnancy, a woman can withdraw consent if fetal genetic defects or some other problem emerges at any time before birth.





Late abortion should be granted without legal restrictions.





Even the minimal qualifications and limitations on women embedded in Roe v. Wade are unacceptable.





Notice how in this case we get to discount a whole argument!





The word “but” is not discounting here; it is a synonym for “and.”  English, like any natural language, is disorderly!





For example, Timothy Murphy invokes the work of Evelyn Hooker, which arguably provided evidence for the “normality” of homosexuals.





“But” is synonym for “and” here.





Notice that here the word “as” is not a premise indicator like “because” but a time indicator like “while.”





Did you notice the discount word “while” within the discounted paragraph?





1. The abortion dilemma is caused by the fact that 266 days following a conception in one body, another body will emerge; [in other words,] one’s own body no longer exists as a single unit but is engendering another organism’s life.





2. This dynamic passage from conception to birth is genetically ordered and universally found in the human species.





3. Pregnancy is not like the growth of cancer or infestation by a biological parasite:  it is the way every human being enters the world.





4. Strained philosophical analogies fail to apply:  having a baby is not like rescuing a drowning person, being hooked up to a famous violinist’s artificial life-support system, donating organs for transplant—or anything else.





5. The moral right to control one’s own body is not a conceptualization adequate for abortion.





If you noticed that the two colons in boxes 3 and 4 each are premise indicators, well done!  You could break out the statement after the colon and make it a premise for the statement before the colon in each case, adding two boxes overall.  (Why are they premise indicators?—Because you could substitute the word “because” for the colon and the meaning would be the same.)





1The burdens of providing care or even just supervision twenty-four hours a day, seven days a week are often overwhelming.





2 When this kind of caregiving goes on for years, it leaves the caregiver exhausted, with no time for herself or life of her own.





3 Ultimately, even her health is often destroyed.





5 Other family members’ needs often go unmet as the caring capacity of the family is exceeded.





6 Social life and friendships evaporate.





4 But it can also be emotionally devastating simply to live with a spouse who is increasingly distant, uncommunicative, unresponsive, foreign, and unreachable.





8 The lives of our loved ones can be seriously compromised by caring for us.





Give yourself a pat on the back if you noticed that “as” here is a premise indicator (synonym for “because”).





1 One part of the recent SUPPORT study documented the financial aspects of caring for a dying member of a family.  2 Only those who had illnesses severe enough to give them less than a 50 percent chance to live six more months were included in this study. 3 When these patients survived their initial hospitalization and were discharged about one-third required considerable caregiving from their families; in 20 percent of cases a family member had to quit work or make some other major lifestyle change; almost one-third of these families lost all of their savings; and just under 30 percent lost a major source of income.





Some people have appealed to previous research on homosexuality that has not been used to the detriment of homosexuals.





The author intends the Dörner example and the Friedman example to support his topic sentence.  That’s why I made boxes 1 and 2 premises for box 3.





Notice that “but” here is not a discount term but a synonym for “and.”








2 When someone has to quit work, she may well lose her career.





3 Savings decimated late in life cannot be recouped in the few remaining years of employability.





4 The loss compromises the quality of the rest of the caregiver’s life.





5 For a young person, the chance to go to college may be lost to the attempt to pay debts due to an illness in the family, and 6 this decisively shapes an entire life.





1 If talking about money sounds venal or trivial, remember that much more than money is normally at stake here.





This is not the conjunction “for” that is a premise indicator, but the preposition “for.”





It would be just as good to break statements 5 and 6 into two boxes.  Those two boxes would be linked not independent premises for box 1.





3 People conducting research on sexual orientation work within homophobic frameworks





1 A prime example is the German obstetrician Günter Dörner, whose descriptions of homosexuality ill-conceal his heterosexism.  Dörner writes about homosexuality as a “dysfunction” or “disease” based on “abnormal brain development.”  He postulate that it can be prevented by “optimizing” natural conditions or by “correcting abnormal hormonal concentrations prenatally” (emphasis added)





2 Another example is provided by psychoanalyst Richard Friedman, who engages in speculation about nongay outcome given proper therapeutic intervention.





I strike through these four words as background information not relevant to the argument.





Background information.





1 In Singapore, homosexual sex acts are a criminal offense.  The Singapore Penal Code sections 377 and 377A threaten sentences ranging from two years to life imprisonment for homosexual people engaging in same-sex acts.





3 There is evidence that scientific research would be used in a manner that discriminates against homosexuals.





2 Not coincidentally, a National University of Singapore psychiatrist recently implied that “pre-symptomatic testing for homosexuality should be offered in the absence of treatment,” thereby accepting the idea that homosexuality is something in need of a cure.





There’s nothing wrong with combining boxes 1 and 2 into one box.





There’s nothing wrong with combining boxes 1 and 2 into one box as premise for box 3.





4 We must also acknowledge that the lives of our loved ones can be devastated just by having to pay for health care for us.





It would be fine to break sentences 1, 2 and 3 into three boxes.  If you did this, they should be linked premises for box 4, not independent.





You have two good clues that this is the conclusion: it is the topic sentence and there is the premise indicator “for several reasons.”





I should underline not only this premise indicator but the rest of the paragraph following it—but that looked messy.





Background information.





Background information.





Discounted by “however.”





“Third” and “Finally” indicate the argument’s third and final reasons—that is, premises--for the main conclusion in the topic sentence.





Don’t you wish the author had labeled his first and second reasons?—I had to add the labels “first” and “second” in square brackets.  When you write your research paper, be sure to be careful about labeling your reasons!





1 The high statistical mortality of pancreatic cancer is in part a function of what is by far the most common diagnostic scenario—the discovery of the malignancy well after it has metastasized to distant sites, spreading throughout the patient’s body, [but] in Mr. Arato’s case, the tumor was comparatively localized, having been discovered in the tail of the pancreas by chance in the course of surgery to remove the diseased kidney.





2 In Mr. Arato’s case the operating surgeon determined that it was possible to excise cleanly the tumorous portion of the pancreas and to leave a margin of about one-half centimeter around the surgical site, a margin that appeared clinically  to be clear of cancer cells.





3 The mortality rate is somewhat lower, according to defense testimony, for pancreatic tumors located in the distal part of the organ than for those found in the main body. 





4 Then-recent experimental studies on the use of F.A.M. chemotherapy in conjunction with therapeutic radiation treatments had shown promising response rates—on the order of several months of extended life—among pancreatic cancer patients 





5 A course of F.A.M. chemotherapy was indicated [for Mr. Arato].





Fussy detail:  give yourself a pat on the back if you noticed that this sentence, in red angle brackets, is actually discounted, though the author carelessly omits any discount word.





The premises are linked because boxes 2 and 3, in particular, are not relevant when independent. If you found these four premises and linked them, you’d get an A.  If you made them independent, you’d get a B. If you found the conclusion, at least a C.





Background information





Not a rhetorical question, so strike through.





You could call this sentence a restatement of the rest of the paragraph.  But it doesn’t add anything to the argument, so I struck it.





Discounted.





Notice three conclusion indicators, “so,” “so” and “so.”





If you have trouble identifying the main conclusion of this argument, you are probably trying to decide if it is the first or last sentence.  Use your common sense:  which is a reason for which? (The main conclusion of a paragraph cannot be a reason for something else in the paragraph!)





1 The fetus is a person from the moment of conception.





2 Every person has a right to life.





3 Surely a person’s right to life is stronger and more stringent than the mother’s right to decide what happens in and to her body.





6 The fetus may not be killed; [in other words,] an abortion may not be performed.





5 The fetus has a right to life. 





4 [A person’s right to life] outweighs [the mother’s right to decide what happens in and to her body].





Notice how I supplemented what was in the text to produce a meaningful declarative statement in box 4. I did not want to combine boxes 3 and 4 because the text had a conclusion indicator between them.





Notice how box 6 contains a restatement.








2 This theory explains why we regard killing as one of the worst of crimes.  3 Killing is especially wrong, because it deprives the victim of more than perhaps any other crime.





4 People with AIDS or cancer who know they are dying believe, of course, that dying is a very bad thing for them.  5 They believe that the loss of a future to them that they would otherwise have experienced is what makes their premature death a very bad thing for them.





6 A better theory of the wrongness of killing would require a different natural property associated with killing which better fits with the attitudes of the dying.





You could just as well break sentences 2 and 3 into two linked boxes, likewise sentences 4 and 5.








Notice how I rewrote the rhetorical question and then struck it.





I did not mark this premise indicator, because it is not marking a premise of the argument I am diagramming.  It marks a premise of an explanation; the whole explanation (because it is “better than any other”) is a premise of the argument I am interested in.  This sort of situation—an explanation inside of an argument—is worth remembering, because it happens often.





I think the “second place” reasoning goes nearly to the end of the paragraph. But I’d give full credit if you thought the second place reasoning was only sentences 4 and 5, so long as you still made 6 a premise.





You have two good clues that this is the conclusion: it is the topic sentence and there is the premise indicator.








I should underline not only this premise indicator but the rest of the paragraph following it—but that looked messy.








Premise indicator.  Everything after it, up to the “second place,” is somehow a premise for the main conclusion.








1 The claim that what makes killing wrong is the loss of the victim’s future [is the best theory of what makes killing wrong; in other words, 7 there could not be a better theory of the wrongness of killing.]








Be sure your conclusion is written as a complete declarative sentence.  The words you add or delete don’t have to be exactly the same as mine, of course.





I found no inference indicators, so I expect every sentence to be a linked or independent premise for the conclusion, unless I can strike it as not relevant to the argument..





“But” is a discount word.





Topic sentence is conclusion.





“Feminists recognize that” is background information.





Easy structure, once you know how!  Nine independent premises building a cumulative case.  The hard part is fitting it on one page.  If I was desperate I’d shrink the font to make more room.





3 Many employers and schools will not tolerate pregnancy in their employees or students, and not every woman is able to put her job, career, or studies on hold.





2 Some women, for instance, find themselves seriously ill and incapacitated throughout pregnancy; they cannot continue in their jobs and may face insurmountable difficulties in fulfilling their responsibilities at home.





4 Women of limited means may be unable to take adequate care of children they have already borne, and they may know that another mouth to feed will reduce their ability to provide for their existing children.





5 Women who suffer from chronic disease, who believe themselves too young or too old to have children, or who are unable to maintain lasting relationships may recognize that they will not be able to care properly for a child when they face the decision.





6 Some who are homeless, addicted to drugs, or diagnosed as carrying the AIDS virus may be unwilling to allow a child to enter the world with the handicaps that would result from the mother’s condition.





7 If the fetus is a result of rape or incest, then the psychological pain of carrying it may be unbearable, and the woman may recognize that their attitude to the child after birth will be tinged with bitterness.





8 Some women learn that the fetuses that they carry have serious chromosomal anomalies and consider it best to prevent them from being born with a condition that is bound to cause them to suffer.





1 Women have abortions for a wide variety of compelling reasons.





9 Others, knowing the fathers to be brutal and violent, may be unwilling to subject a child to the beatings or incestuous attacks thy anticipate; some may have no other realistic way to remove the child (or themselves) from the relationship





“But” tells me this is discounted.





Topic sentence





I plan to use this premise indicator to help me decide how to group the sentences.





I struck the last sentence.  It is not a restatement of anything, and has no connection to the argument  as either premise or as conclusion.  An acceptable alternative is to see it as the topic sentence, following from sentence 1.





Notice that sentence 6 actually is a premise for 5.  It would be defensible to diagram it that way (namely, 6(5), but I did not want to read an inference into the text that the author does not bother to indicate.  So I clumped them together.





I decided to put sentences 2, 3, and 4 in one box.  They should not be linked in different boxes (I’m just quibbling here), because sentences 3 and 4 are actually premises for sentence 2.  It would be defensible to diagram it that way (namely, as 3 ( 2 ( 4), but I did not want to read inferences into the text that the author does not bother to state.  It is simplest just to clump it in one box.





2 They are sometimes socially awkward to use.  3 Young women are discouraged from preparing for sexual activity that might never happen and are offered instead romantic models of spontaneous passion; few films or novels interrupt scenes of seduction for a partner to fetch contraceptives.  4 Many women find their male partners unwilling to use barrier methods of contraception, and they often find themselves in no position to insist.





5 Cost is a limiting factor for many women.   6 Condoms and spermicides are expensive and are not covered under most health care plans.





Notice how I added the stuff in square brackets to the conclusion to make it more informative.





1 These methods [the use of barrier methods (condoms or diaphragms) in combination with spermicidal foams or jelly] also pose difficulties for women.





Background information





“Although” discounts the  statement following it





Topic sentence





“Moreover” is never a discount word.  It is a synonym for “and.”  In this context it indicates an additional premise; so give yourself a pat on the back if you marked it as a premise indicator.





Because each premise makes a different point, it would be inferior to lump sentences 2-6 together in one box.





Many independent premises make a cumulative case for the conclusion.





4 Typically, antiabortion activists support conservative economic measures that protect the interests of the privileged classes of society and ignore the needs of the oppressed and disadvantaged.





3 Most opponents of abortion also oppose virtually all forms of birth control and all forms of sexuality other than monogamous, reproductive sex; usually, they also resist having women assume positions of authority in dominant public institutions.





2 The movement against abortion is led by the Catholic church and other conservative religious institutions, which explicitly endorse not only fetal rights but also male dominance in the home and the church.





6 Some current campaigns against abortion retain elements of the racism that dominated the North American abortion literature in the early years of the twentieth century, wherein abortion was opposed on the grounds that it amounted to racial suicide on the part of whites.





5 Many [antiabortion activists] systematically work to dismantle key social programs that provide life necessities to the under class.





Notice how I added clarification to the statement in box 5.





1 When we place abortion in the larger political context, we see that most of the groups active in the struggle to prohibit abortion also support other conservative measures to maintain the forms of dominance that characterize patriarchy (and often class and racial oppression as well)





Both the first and last sentences appear to be possible topic sentences.  What to do?  Are they restatements of each other?





Background information





“However” is not here a discount word (which must be a conjunction), but an adverbial modifying  “good.”





“Thus” is conclusion indicator.





Background information





“Because” is premise indicator





The tricky part of identifying the argument in this paragraph is noticing that sentences 1, 2, 4, and 6 all say basically the same thing; so they belong in the same box in the diagram as restatements.





If you linked 3 and 5 instead of making them independent, or if you made 3 a premise for 5, I would not fault you.  If you noticed that box 3 is actually a premise for box 5, you are right and ahead of the author, who did not write the argument that way.  But I would not fault you for diagramming 3 as premise to 5, either.





5 No one can be forced to donate an organ or submit to other invasive physical procedures for however good a cause.





3 It is her body which is involved





1 A woman choosing an abortion is exercising a basic right of bodily integrity granted in our common law tradition; [in other words,] 2 if she does not choose to be physically involved in the demands of a pregnancy and birth, she should not be compelled to be so against her will; [in other words,] 4 a woman should have the right to terminate any pregnancy, which at this point in medical history is tantamount to terminating fetal life; [in other words,] 6 no woman should be subject to “compulsory pregnancy.” 





I would not fault you if you marked “after all” as a premise indicator.  You could reasonably claim that it is functioning like “because” here.





Topic sentence





Ask yourself, “Does the author intend sentences 5 and 6 as premises direct to his topic sentence, or does he intend them as premises to another sentence in this paragraph?





Why does the author write sentence 5 beginning with the word “nor”?  This is a delicate use of language I want you to notice and admire.  If he had written 5 in standard grammatical form, “The fact that one’s child shares one’s genes should NOT become the basis for a property rights argument . . .,” we would not have any indication of its connection to the other sentences in the paragraph.  By putting the “nor” first, he is balancing it with the implied “neither” statement, sentence 2.  Another way in English to indicate this balancing of 2 with 4 is to begin sentence 2 with the words “on the one hand” and sentence 4 with the words “on the other hand.”  We should try to reflect this balance in our diagrams.





I take sentence 3 to be a premise, but I wouldn’t fault you if you left it out as background information.





If you weren’t sure what to do with sentences 5 and 6, your best bet would be to clump them together in the same box with sentence 4. 





Sentences 5 and 6 are independent premises for 4, because neither answers the “Why is it relevant?” question about the other.





Notice how I rewrote sentences 5 and 6, so that the reader does not have to guess what the pronouns “this” and “it” stand for.





6 [To make the fact that one’s child shares one’s genes become the basis for a property rights argument, in which the child is in some sense “owned” by the parent] fails to distinguish between owning the raw materials and owning the creation arising from them.





5 [To make the fact that one’s child shares one’s genes become the basis for a property rights argument, in which the child is in some sense “owned” by the parent] is a dangerous doctrine that long led to child abuse and child labor.





Sentences 2 and 4 are “balanced” as the one hand and the other on which the conclusion rests.





4 The fact that one’s child shares one’s genes [should not] become the basis for a property rights argument, in which the child is in some sense “owned” by the parent.





2 There is no statistically significant genetic difference between a genetic parent and child and the genetic relationship between full siblings.  3 It is the added psychological aspects of parenting that give the parental genetic connection such an entitlement to legal recognition.





I clumped sentences 2 and 3 together.  You might have without fault made them independent or linked premises to sentence 1.





1 It is easy to place too much mystical importance on genetic connections [between parent and child].





“First” indicates that everything after it, up to the word “second,” is a premise, a sub-argument, in fact.





Sentence 1 is the topic sentence.





 “Second” indicates that everything after it is a premise, indeed a sub-argument.





“But” discounts the sentence before it.





“However” discounts “There are a number of serious problems . . .”





“For the purposes of this argument, suffice it to say” is back-ground information.





“Given that” is a synonym for “because” and indicates a premise.





“Even if” discounts the statement after it.





Back-ground inform-ation.





Whew!!





I rewrote these rhetorical questions as declarative statements 10 and 12 and then struck them.





There are several ways to clump sentences together into a box or to break them into linked premises, all of which would earn full credit in this diagram.





[10 Traits that are perpetuated simply through linkage to selectively advantageous loci are NOT less “normal” than those for which selection was direct.]





11 Social contexts now exert “selective pressure” in a way that nature once did.





[12 We CANNOT decide which traits are to be intentionally fostered.]





3 Appeals to what is usual, regular, and/or conforming to existing standards ultimately collapse into statistical statements.  4 For an ethical evaluation of homo-sexuality, it is irrelevant whether homosexuality is normal or abnormal in this [descriptive] sense; [in other words,] 5 this is not a sufficient justification for a negative ethical judgment about them.





8 No moral assessment of traits [that have evolved] would follow [when normality is defined in a functional sense].  9 To illustrate our point,  suppose any trait that can be reasonably believed to have served an adaptive function at some evolutionary stage is normal.





6 “Normality” might be defined in a functional sense, where what is normal is something that has served an adaptive function from an evolutionary perspective.  7 This definition of normality can be found in sociobiology, which seeks biological explanations for social behavior.





Box 6 and box 2 are two independent premises making a cumulative case for box 1.





To be clear, I supplied the meaning of the pronoun “them.”





1 None of [the ways of defining normality] direct us in the making of moral judgments.





2 Normality can be reasonably defined in a descriptive sense as a statistical average.





Sentence 1 is the topic sentence and main conclusion.





I struck these two sentences as background information; they explain what “this general argument” is in sentence 1.





I see sentence 3 as summing up the argument given by sentences 4-8 for sentence 2.  So I treat it as background information and strike it.





“But” in these two places is not a discount word but a synonym for “and.”





Premise indicator





“Because” is a premise indicator.





The support for the main conclusion breaks into two parts, which the author indicates with the words “First” and “More importantly.”





I saw sentences 8, 7, and 6 as restatements of 5, 4, and, 2, respectively.  This enabled me to make a simpler diagram.  If you didn’t see these restatements, your diagram will be more complex, but not necessarily wrong.





8 This evidence is perfectly compatible with nongenetic accounts of the origins of sexual orientations; [in other words,] 5 the failure rates [of conversion “therapies”]do not say anything about its ontogeny or etiology.








Notice how I supplied the meaning of the pronouns “this,” “these,” “they,” and “such” in sentences 1, 4, 5, and 10 to make the meaning clear.





7 There is strong observational evidence to support the claim that sexual orientation is difficult to change; [in other words,] 4 the failure [rates of conversion “therapies”] establish that sexual orientation is resistant to change








10 The implicit premise of arguments [that seek to legitimate homosexuality by denying that there is any choice in sexual preference] is that if there was a choice, then homosexuals would be blameworthy





1 This general argument [namely, that establishing a genetic basis for sexual orientation will help make the case for lesbian and gay rights--the idea is that scientific research will show that people do not choose their sexual orientations and therefore they should not be punished or discriminated against in virtue of them] is flawed in two ways.





6 Sexual orientation can be unchangeable without being genetically determined; [in other words,] 2 we do not need to show that a trait is genetically determined to argue that it is not amenable to change at will.








9 We should not embrace arguments that seek to legitimate homosexuality by denying that there is any choice in sexual preference.





Notice how I added the words “are” and “is” to make my premises declarative statements.





Notice how I supplied the meaning of the pronoun “such” in this sentence.  I do this to make the argument clear.





The word “For” in sentence 4 is a preposition, not premise indicator.





Neither question is rhetorical.





This citation is background information.





7 There is no opportunity to go out to see friends and the home is no longer a place suitable for having friends in.





Look for restatement!








